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SECTION – i
IÊS> – i

CHILD DEVELOPMENT AND PEDAGOGY 
~mb {dH$mg Ed§ {ejU {d{Y`m±

There are 30 questions in all in this section.
All questions are compulsory.

Bg IÊS> _| Hw$b 30 àíZ h¢ &
g^r àíZ A{Zdm`© h¢ &

	 1.	 Which factor is negatively effects the learners/child’s linguistics development ?

	 (A)	 Nature of family – Nuclear

	 (B)	 Freedom of autonomously contacts with peers

	 (C)	 Availability of stimulation by parents

	 (D)	 Multiple birth (twins)

		  {ZåZ{b{IV _| go H$m¡Z-gm ~ÀMm| Ho$ ^mfm`r {dH$mg H$mo ZH$mamË_H$ ê$n go à^m{dV H$aVm h¡ ?

	 (A)	 n[adma H$s àH¥${V - EH$b

	 (B)	 ñdm`Îm ê$n go gm{W`m| go g§nH©$ ~ZmZo H$s ñdV§ÌVm

	 (C)	 _mVm-{nVm Ûmam àXÎm àoaUm H$s CnbãYVm

	 (D)	 ~hþOÝ_ (Ow‹S>dm±)

	 2.	 Which of the following is not a projective test for personality ?

	 (A)	 Sequence completion test	 (B)	 16 personality factors questionnaire

	 (C)	 Word association test	 (D)	 Rorschach test

		  {ZåZ{b{IV _| go H$m¡Z-gm ì`pŠVËd _mnZ hoVy àjonr` narjU Zht h¡ ?

	 (A)	 dmŠ`ny{V© narjU			   (B)	 16 ì`pŠVËd-H$maH$ àíZmdbr

	 (C)	 eãX-gmhM`© narjU		 (D)	 amoem© narjU
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	 3.	 Which is the correct match of adjustment mechanism and its description ?
	 I.	 Negativism	 a.	 An individual draws the attention of other persons 

and develops strong and irrational resistance in 
accepting suggestion of others

	 II.	 Aggression	 b.	 An individual aggressively attributes the frustration 
to external persons or things

	 III.	 Projection	 c.	 Attributing to and observing in others one’s own 
impulses and traits

	 IV.	 Rationalization	 d.	 An individual justifies his beliefs and actions by 
giving reasons other than those which activated or 
motivated him

		  Select from the code given below :
		  I	 II	 III	 IV
	 (A)	 a	 b	 c	 d
	 (B)	 c	 b	 a	 d
	 (C)	 b	 c	 d	 a
	 (D)	 c	 d	 a	 b

		  g_m`moOZ VÝÌ Am¡a CgHo$ {ddaU (Ame`) H$m ghr {_bmZ H$m¡Z-gm h¡ ?
	 I.	 ZH$mamË_H$Vm	 a.	EH$ ì`pŠV AÝ` ì`pŠV`m| H$m Ü`mZ AmH${f©V H$aVm h¡ Am¡a 

Xÿgam| Ho$ gwPmdm| H$mo ñdrH$ma H$aZo _| _O~yV Am¡a AVm{H©$H$ 
à{VamoY {dH${gV H$aVm h¡

	 II.	 AmH«$m_H$Vm	 b.	EH$ ì`pŠV AnZo Ag§Vmof H$mo ~mhar ì`pŠV`m| `m MrOm| na 
AmH«$m_H$ ê$n go WmonVm h¡

	 III.	 àjonU	 c.	Xÿgam| _| AnZo hr AmdoJm| Am¡a {deofVmAm| H$mo Amamo{nV 
H$aZm Am¡a CZH$m AdbmoH$Z H$aZm

	 IV.	 `wpŠV g§JVVm	 d.	EH$ ì`pŠV AnZo {dídmgm| Am¡a H$m`m] H$mo CZ H$maUm| Ho$ 
_mÜ`_ go C{MV R>hamVm h¡ Omo CÝh| ào[aV `m g{H«$` H$aZo 
dmbo Zht Wo

		  ZrMo {X`o J`o Hy$Q> _| go M`Z H$s{O`o :
		  I	 II	 III	 IV
	 (A)	 a	 b	 c	 d
	 (B)	 c	 b	 a	 d
	 (C)	 b	 c	 d	 a
	 (D)	 c	 d	 a	 b
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	 4.	 Which is not a decision taken by teachers in pre-active phase of teaching ?

	 (A)	 Selection of teaching methods	 (B)	 Selection of teaching materials

	 (C)	 Evaluation of students	 (D)	 Duration of class teaching

		  nyd©-{H«$`mË_H$ AdñWm _| {ejH$ Ûmam {b`o OmZo dmbm {ZU©` Zht h¡

	 (A)	 {ejU {d{Y`m| H$m M`Z	 (B)	 {ejU gm_J«r H$m M`Z

	 (C)	 {dÚm{W©`m| H$m _yë`m§H$Z H$aZm	 (D)	 H$jm {ejU H$s Ad{Y

	 5.	 Under cognitive learning, the main principle of latent learning is

	 (A)	 Learning occurs even out with reinforcement and reward

	 (B)	 Learning occurs only with rewards

	 (C)	 Learning occurs only with punishment

	 (D)	 Learning occurs only through imitation

		  g§kmZmË_H$ A{YJ_ Ho$ AÝVJ©V, àÀN>Þ A{YJ_ H$m à_wI {gÕmÝV h¡

	 (A)	 {~Zm nwañH$ma Ed§ nwZ~©bZ Ho$ ^r grIZm hmoVm h¡

	 (B)	 Ho$db nwañH$ma go grIZm hmoVm h¡

	 (C)	 Ho$db X§S> go grIZm hmoVm h¡

	 (D)	 Ho$db AZwgaU Ûmam grIZm hmoVm h¡

	 6.	 What is the primary aim of curriculum design according to NCF – 2005 ?

	 (A)	 Promoting rote memorization

	 (B)	 Increasing text book size

	 (C)	 Connecting knowledge to life outside school

	 (D)	 Focusing only on exams

		  amîQ´>r` nmR>²`M`m© H$s ê$naoIm, 2005 Ho$ AZwgma nmR>²`H«$_ {S>OmBZ H$m àmW{_H$ CÔoí` Š`m h¡ ?

	 (A)	 aÅ>m _maZo H$mo ~‹T>mdm XoZm

	 (B)	 nmR>²` nwñVH$ H$m AmH$ma ~‹T>mZm

	 (C)	 kmZ H$mo {dÚmb` Ho$ ~mha Ho$ OrdZ go Omo‹S>Zm

	 (D)	 Ho$db narjmAm| na Ü`mZ Ho$pÝÐV H$aZm
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	 7.	 Match the stages of psycho-social development theory of Erickson to their specific 
age or period.

	 I.	 Ego integrity vs. Despair	 i.	 Early adulthood (20 to 45 years)
	 II.	 Autonomy vs. Shame and doubt	 ii.	 Adolescence (12 to 20 years)
	 III.	 Intimacy vs. Isolation	 iii.	 Later adulthood (65 years onwards)
	 IV.	 Identity vs. Role confusion	 iv.	 1½ years to 3 years

		  Choose the correct match.
	 (A)	 I – i,	 II – ii,	 III – iii,	 IV – iv
	 (B)	 I – ii,	 II – iii,	 III – i,	 IV – iv
	 (C)	 I – iii,	 II – iv,	 III – i,	 IV – ii
	 (D)	 I – iv,	 II – i,	 III – iii,	 IV – ii

		  E[aH$gZ Ho$ _Zmod¡km{ZH$-gm_m{OH$ {dH$mg Ho$ {gÕmÝV H$s AdñWmAm| H$mo CZH$s Am`w/Ad{Y/H$mb 
Ho$ gmW {_bmZ H$a| &

	 I.	 Ah§-gË`{ZîR>m ~Zm_ Z¡amí`	 i.	 àma§{^H$ d`ñH$Vm (20 go 45 df©)
	 II.	 ñdm`ÎmVm ~Zm_ bÁOm Am¡a g§Xoh	 ii.	 {H$emoamdñWm (12 go 20 df©)
	 III.	 AmË_r`Vm ~Zm_ EH$mÝVVm	 iii.	 CÎma d`ñH$Vm (65 df© go A{YH$)
	 IV.	 nhMmZ ~Zm_ ^y{_H$m ÛÝÛ	 iv.	 1½ df© go 3 df© Am`w

		  ghr {_bmZ H$m MwZmd H$a| &
	 (A)	 I – i,	 II – ii,	 III – iii,	 IV – iv
	 (B)	 I – ii,	 II – iii,	 III – i,	 IV – iv
	 (C)	 I – iii,	 II – iv,	 III – i,	 IV – ii
	 (D)	 I – iv,	 II – i,	 III – iii,	 IV – ii

	 8.	 What does “Scaffolding” in the teaching-learning process refer to ?

	 (A)	 Permanent support for all learning tasks
	 (B)	 Temporary support to help students achieve independence in tasks
	 (C)	 Evaluating students rote memory
	 (D)	 Completing tasks for students

		  {ejU-A{YJ_ à{H«$`m _| ""ñH¡$\$mopëS>¨J'' H$m Š`m AW© h¡ ?
	 (A)	 g^r {ejU H$m`m] Ho$ {bE ñWm`r ghm`Vm
	 (B)	 N>mÌm| H$mo H$m`m] _| ñdV§ÌVm àmßV H$aZo _| _XX Ho$ {bE AñWm`r ghm`Vm
	 (C)	 N>mÌm| H$s aQ>Zo H$s j_Vm H$m _yë`m§H$Z
	 (D)	 N>mÌm| Ho$ {bE H$m`m] H$mo nyam H$aZm
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	 9.	 Which method of evaluation method is emphasized in NCF – 2005 to reduce stress ?
	 (A)	 Summative assessment
	 (B)	 Continuous and Comprehensive Evaluation (CCE)
	 (C)	 Multiple choice tests only
	 (D)	 Standardized testing

		  NCF – 2005 _| VZmd H$mo H$_ H$aZo Ho$ {bE {H$g _yë`m§H$Z nÕ{V na Omoa {X`m J`m h¡ ?

	 (A)	 g_pîQ> _yë`m§H$Z
	 (B)	 gVV Ed§ ì`mnH$ _yë`m§H$Z
	 (C)	 Ho$db ~hþ{dH$ënr` narjU
	 (D)	 _mZH$sH¥$V narjU

	 10.	 In Action Research, what does “pre test – post test single group design” 
		  refer to ?
	 (A)	 A design where multiple groups are compared
	 (B)	 A design where one group is tested before and after treatment
	 (C)	 A design that does not include pretesting
	 (D)	 A design to generalize findings
		  {H«$`mË_H$ AZwg§YmZ _| ""nyd© narjU-níM narjU EH$b g_yh àmê$n'' go Š`m Ame` h¡ ?
	 (A)	 EH$ {S>OmBZ Ohm± H$B© g_yhm| H$s VwbZm H$s OmVr h¡
	 (B)	 EH$ {S>OmBZ Ohm± EH$ g_yh H$m CnMma go nhbo Am¡a CnMma Ho$ ~mX _| narjU {H$`m OmVm h¡
	 (C)	 EH$ {S>OmBZ, {Og_| nyd© narjU em{_b Zht hmoVm
	 (D)	 EH$ {S>OmBZ, Omo {ZîH$fm] H$mo gm_mÝ` H$aVm h¡

	 11.	 Which of the following is not the educational implication of growth and 
developments principles ?

	 (A)	 Never give up our efforts to achievement
	 (B)	 Everyone should be helped within the sphere of individual strengths and 

limitations
	 (C)	 Plan the environmental/educational experiences according to particular 

development stage
	 (D)	 Make inadequate arrangement for the subsequent progress and consolidation of 

the progress achieved during specific developmental stages
		  {ZåZ{b{IV _| go H$m¡Z-gm d¥{Õ Ed§ {dH$mg Ho$ {gÕmÝVm| H$m e¡{jH$ AZwà`moJ Zht h¡ ?
	 (A)	 H$^r ^r AnZo à`mgm| H$m CnbpãY àmpßV VH$ g_n©U Zht H$aZm
	 (B)	 àË`oH$ {dÚmWu H$s ghm`Vm, CgH$s ì`pŠVJV epŠV`m| VWm gr_mAm| Ho$ AÝVJ©V ahH$a H$aZm
	 (C)	 {dH$mg H$s {d{eîQ> AdñWm Ho$ AZwgma e¡{jH$ AZw^dm| H$mo `moOZm ~Õ> H$aZm
	 (D)	 {d{eîQ> {dH$mg AdñWmAm| Ho$ Xm¡amZ àmßV àJ{V Ho$ g_oH$Z Am¡a AmJm_r à{H«$`m Ho$ {bE 

An`m©ßV ì`dñWm H$aZm
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	 12.	 Which of the following correct structural sequence of Gillford’s model of 
human intelligence ?

	 (A)	 Operations → Products → Contents	 (B)	 Products → Operations → Contents
	 (C)	 Operations → Contents → Products	 (D)	 Contents → Products → Operations
		  {ZåZ{b{IV _| go H$m¡Z-gm {Jb\$moS>© Ho$ _mZd ~w{Õ_Vm _m°S>b H$m ghr g§aMZm H«$_ h¡ ?
	 (A)	 g§{H«$`m → CËnmX → {df`dñVw	 (B)	 CËnmX → g§{H«$`m → {df`dñVw
	 (C)	 g§{H«$`m → {df`dñVw → CËnmX	 (D)	 {df`dñVw → CËnmX → g§{H«$`m

	 13.	 What is the main cause of extraneous cognitive load ?
	 (A)	 Inadequate background knowledge	 (B)	 Poor strategies and distractions
	 (C)	 The inherent task complexity	 (D)	 Lots of examples

		  A{V[aŠV g§kmZmË_H$ ^ma H$m _w»` H$maU Š`m h¡ ?
	 (A)	 An`m©ßV n¥îR>^y{_ kmZ	 (B)	 Iam~ aUZr{V`m± Am¡a {dMbZ
	 (C)	 H$m`© H$s Am§V[aH$ O{Q>bVm	 (D)	 CXmhaUm| H$s A{YH$ _mÌm

	 14.	 What is the objective of the Pradhan Mantri innovative learning 
		  program – Dhruv ?
	 (A)	 To provide equal education to all students
	 (B)	 To identify and encourage talented children in science and performing art
	 (C)	 To benefit only government school students
	 (D)	 To prepare students for competitive exams

		  àYmZ_§Ìr ZdmoÝ_ofr {ejU H$m`©H«$_-Y«wd H$m CÔoí` Š`m h¡ ?
	 (A)	 g^r N>mÌm| H$mo g_mZ {ejm àXmZ H$aZm
	 (B)	 {dkmZ Ed§ àXe©Z H$bm _| à{V^membr ~ÀMm| H$s nhMmZ Am¡a àmoËgmhZ H$aZm
	 (C)	 Ho$db gaH$mar ñHy$bm| Ho$ N>mÌm| H$mo bm^ XoZm
	 (D)	 N>mÌm| H$mo à{V`moJr narjmAm| H$s V¡`mar H$admZm

	 15.	 Which of the following is not the characteristics of creativity ?
	 (A)	 Creativity is adventurous and open thinking
	 (B)	 Creativity carries ego involvement
	 (C)	 Creativity cannot be separated from intelligence
	 (D)	 Creativity and school achievement are correlated
		  g¥OZmË_H$ H$s {deofVmAm| _| {ZåZ _| go H$m¡Z-gr Zht h¡ ?
	 (A)	 g¥OZmË_H$Vm gmhgr Am¡a Iwbr gmoM h¡
	 (B)	 g¥OZmË_H$Vm _| Ah§ H$s ^mJrXmar hmoVr h¡
	 (C)	 g¥OZmË_H$Vm H$mo ~w{Õ go n¥WH$ Zht {H$`m Om gH$Vm h¡
	 (D)	 g¥OZmË_H$Vm Ed§ {dÚmb`r CnbpãY nañna g§~§{YV h¡
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	 16.	 Which of the following describe the exact meaning of given statement ?
		  “The tendency for the children of highly talented parents to be less talented than  

their parents and relative tendency for children of very low-class parents to be less 
low-class.”

	 (A)	 Recapitulation			   (B)	 Regression
	 (C)	 Inheritance			   (D)	 Amplification
		  {ZåZ _| go H$m¡Z-gm {X`o J`o H$WZ H$m ghr dU©Z H$aVm h¡ ?
		  ""AË`ÝV à{V^membr _mVm-{nVm H$s g§VmZ Ho$ AnZo _mVm-{nVm H$s Anojm H$_ à{V^membr hmoZo 

H$s àd¥{Îm VWm AË`ÝV {ZåZ H$mo{Q> Ho$ ~mbH$m| _| H$_ {ZåZ H$mo{Q> hmoZo H$s VwbZmË_H$ àd¥{Îm &''
	 (A)	 nydm©dV©Z			   (B)	 àË`mJ_Z
	 (C)	 d§emZwH«$_			   (D)	 àdY©Z

	 17.	 “Intelligence is the aggregate or global capacity of an individual to act purposefully, 
to think rationally and to deal effectively with his environment.” This statement 
according to

	 (A)	 Stern			   (B)	 Jean Piaget
	 (C)	 David Wechster			   (D)	 Woodworth and Marquis
		  ""~w{Õ EH$ g_wÀM` `m gmd©^m¡{_H$ j_Vm h¡ {OgHo$ ghmao ì`pŠV CÔoí`nyU© {H«$`m H$aVm h¡, {ddoH$erb 

qMVZ H$aVm h¡ VWm dmVmdaU Ho$ gmW à^mdH$mar T>§J go g_m`moOZ H$aVm h¡ &'' Cn`w©ŠV H$WZ h¡
	 (A)	 ñQ>Z©			   (B)	 OrZ {n`mOo
	 (C)	 S>o{dS> doeba			   (D)	 dwS>dW© Am¡a _mpŠd©g

	 18.	 Which of the following effects/influence the human body system (emotions, actions 
and thoughts) of individual growth and development ?

	 (A)	 Nervous system			   (B)	 Physical deformities
	 (C)	 Endocrine glands		  (D)	 Defective physical appearance

		  {ZåZ{b{IV _| go H$m¡Z-gm _mZd eara V§Ì Ho$ (g§doJm|, H$m`m] Ed§ {dMmam| H$s) d¡`pŠVH$ d¥{Õ Ed§ 
{dH$mg H$mo à^m{dV H$aVm h¡ ?

	 (A)	 V§{ÌH$m V§Ì			   (B)	 emar[aH$ {dH¥${V
	 (C)	 A§V:ñÌmdr J«§{W`m±			   (D)	 XmofnyU© emar[aH$ ~ZmdQ>

	 19.	 A child calling Look a likes all men ‘papa’ is an example of which process ?
	 (A)	 Conditioning			   (B)	 Development
	 (C)	L earning			   (D)	 Assimilation
		  EH$ ~ÀMo Ûmam g_mZ {XIZo dmbo g^r nwéfm| H$mo "nmnm' H$hZm {H$g à{H«$`m H$m CXmhaU h¡ ?
	 (A)	 AZwHy$bZ			   (B)	 {dH$mg
	 (C)	 A{YJ_			   (D)	 gherH$aU
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	 20.	 Which of the following trait is important structure of personality, don’t reflect in 
individuals day per day interactions and its can’t observe directly ?

	 (A)	 Surface trait			   (B)	 Common trait
	 (C)	 Personal trait			   (D)	 Source trait
	 	 {ZåZ{b{IV _| go H$m¡Z-gm erbJwU ì`pŠVËd H$s _hÎdnyU© g§aMZm h¡, ì`pŠV Ho$ {XZ-à{V{XZ H$s 

A§V:{H«$`m _| n[ab{jV Zht hmoVm h¡ VWm BgH$m àojU grYo Zht {H$`m Om gH$Vm h¡ ?
	 (A)	 gVhr erbJwU			   (B)	 gm_mÝ` erbJwU
	 (C)	 ì`pŠVJV erbJwU			   (D)	 _yb erbJwU

	 21.	 How does a concept mapping support to teacher ?

	 (A)	 Selection of appropriate instructional material

	 (B)	 Reducing teaching time

	 (C)	 Enhancing students writing skills

	 (D)	 Eliminating lesson planning

		  g§H$ënZm _mZ{MÌU {ejH$m| H$s {H$g àH$ma _XX H$aVm h¡ ?
	 (A)	 Cn`wŠV AZwXoeZmË_H$ gm_J«r H$m M`Z
	 (B)	 {ejU g_` H$mo H$_ H$aZm
	 (C)	 N>mÌm| Ho$ boIZ H$m¡ebm| H$mo ~‹T>mZm
	 (D)	 nmR>-`moOZm H$mo g_mßV H$aZm

	 22.	 How much types of disabilities included in the Rights of Persons with 
Disabilities (RPWD) Act, 2016 ?

	 (A)	 12	 (B)	 10	 (C)	 16	 (D)	 21

		  {Xì`m§JOZ A{YH$ma, 2016 _| {H$VZr {Z:gŠVVmAm| H$mo em{_b {H$`m Wm ?

	 (A)	 12	 (B)	 10	 (C)	 16	 (D)	 21

	 23.	 Growth and development are two main reasons of __________ and _________ .

	 (A)	 Learning and environment	 (B)	 Teaching and environment

	 (C)	 Maturity and learning	 (D)	 Practice and experience

		  d¥{Õ VWm {dH$mg Ho$ Xmo à_wI H$maU __________ VWm __________ hmoVo h¢ &

	 (A)	 A{YJ_ Ed§ dmVmdaU		 (B)	 {ejU Ed§ dmVmdaU
	 (C)	 n[anŠdVm Ed§ A{YJ_	 (D)	 Aä`mg Ed§ AZw^d
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	 24.	 What is a key pedagogical dilemma for teachers in constructivist classroom ?

	 (A)	 Honoring students attempts to think independently while staying faithful 
to subject disciplines

	 (B)	 Not addressing cultural diversity in the classroom

	 (C)	 Negotiating authority with parents/guardians

	 (D)	 Using technology for collaborative learning

		  kmZ g§aMZmdmXr H$jmAm| _| {ejH$m| Ho$ {bE EH$ à_wI {ejmemñÌr` Xþ{dYm Š`m h¡ ?
	 (A)	 N>mÌm| Ho$ ñdV§Ì gmoMZo Ho$ à`mgm| H$m gå_mZ H$aZm VWm gmW hr {df`-AZwemgZ Ho$ à{V 

{ZîR>mdmZ ahZm
	 (B)	 H$jm _| gm§ñH¥${VH$ {d{dYVm H$mo g§~mo{YV Zht H$aZm
	 (C)	 _mVm-{nVm/g§ajH$ Ho$ gmW A{YH$ma na ~mVMrV H$aZm
	 (D)	 gh`moJmË_H$ {ejU Ho$ {bE àm¡Úmo{JH$s H$m Cn`moJ H$aZm

	 25.	 Section – 29 of RTE Acts – 2009 primarily deals with :

	 (A)	 Curriculum and evaluation procedures

	 (B)	 Admission processes

	 (C)	 Teachers qualifications

	 (D)	 Rights of minority institutions

		  {Z:ewëH$> Ed§ A{Zdm`© àma§{^H$ {ejm H$m A{YH$ma – 2009 H$s Ymam – 29 _w»` ê$n go g§~§{YV h¡ 
	 (A)	 nmR>çH«$_ Ed§ _yë`m§H$Z à{H«$`mE±
	 (B)	 àdoe à{H«$`m
	 (C)	 {ejH$m| H$s `mo½`VmE±
	 (D)	 Aëng§»`H$ g§ñWmZm| Ho$ A{YH$ma

	 26.	 Which stage is known as the “Eureka” movement in creative process ?

	 (A)	 Stage of incubation	 (B)	 Stage of revision

	 (C)	 Stage of illumination	 (D)	 Stage of preparation

		  g¥OZmË_H$ à{H«$`m _| ""`yaoH$m'' jU {H$g AdñWm H$mo H$hm OmVm h¡ ?

	 (A)	 J^m©YmZ H$s AdñWm		  (B)	 nwZarjU H$s AdñWm
	 (C)	 à~moYZ H$s AdñWm			  (D)	 V¡`mar H$s AdñWm
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	 27.	 If a student have spatial intelligence, as a teacher what would you suggest 
specilization area of study to his/him parents for further studies ?

	 (A)	 Mathematicians, Philosophers, Physicists
	 (B)	 Painter, Surveyors, Architects, Engineers
	 (C)	 Musicians, Dancers, Athletes
	 (D)	 Yogis, Saints, teachers, Politicians, Salesmans
		  `{X H$moB© {dÚmWu ñWm{ZH$ ~w{Õ gånÞ h¡, Vmo EH$ {ejH$ Ho$ ê$n _| Amn Cg {dÚmWu Ho$ _mVm-{nVm 

H$mo CÀM AÜ``Z _| {H$g {d{eîR>Vm joÌ OmZo Ho$ {bE _mJ©X{e©V H$a|Jo ?
	 (A)	 J{UVk, Xme©{ZH$, ^m¡{VH$ {dkmZr
	 (B)	 {MÌH$ma, gd}jUH$Vm©, dmñVwH$ma, B§Or{Z`a
	 (C)	 g§JrVH$ma, Z¥VH$, {Ibm‹S>r
	 (D)	 `moJ à{ejH$, g§V, AÜ`mnH$, amOZr{Vk, goëg_¡Z

	 28.	 The role of experiential learning in knowledge construction is primarily based on
	 (A)	 Experience and reflection only	 (B)	 Theory and practice only
	 (C)	 Experience and subsequent reflection	 (D)	 Textbook knowledge only
		  kmZ H$s aMZm _| AZw^dOÝ` A{YJ_ H$s ^y{_H$m _w»` ê$n go AmYm[aV h¡
	 (A)	 Ho$db AZw^d Ed§ namdV©Z na	 (B)	 Ho$db {gÕmÝV Ed§ Aä`mg na
	 (C)	 AZw^d VWm namdVu qMVZ na	 (D)	 Ho$db nmR>çnwñVH$s` kmZ na

	 29.	 Cources in the area of special education are regulated and controlled by
	 (A)	 Rehabilitation council of India
	 (B)	 Special education council of India
	 (C)	 National council for teacher education
	 (D)	 National council of educational research and training
		  {d{eîQ> {ejm Ho$ joÌ Ho$ AH$mS>{_H$ H$m`©H«$_ {ZåZ{b{IV _| go H$m¡Z-gr g§ñWm Ûmam {Z`{_V 

Ed§ {Z`§{ÌV hmoVo h¡ ?
	 (A)	 ^maVr` nwZdm©g n[afX²
	 (B)	 ^maVr` {deof {ejm n[afX²
	 (C)	 amîQ´>r` AÜ`mnH$ {ejm n[afX²
	 (D)	 amîQ´>r` e¡{jH$ AZwg§YmZ Ed§ à{ejU n[afX²

	 30.	 What is called “to give opportunity to the human basic instinctive or emotional 
power to be expressed eg. freedom of interaction to each other” ?

	 (A)	 Catharsis			   (B)	 Sublimation
	 (C)	 Redirection			   (D)	 Contradiction
		  ""_Zwî` H$s _yb àd¥{ÎmOÝ` `m g§doJmË_H$ epŠV H$mo A{^ì`ŠV hmoZo H$m Adga XoZm O¡go-EH$-Xÿgao go 

KwbZo-{_bZo H$s ñdV§ÌVm'', H$hbmVr h¡
	 (A)	 A{VaoMZ			   (B)	 emoYZ
	 (C)	 _mJm©ÝVarH$aU			   (D)	 {damoY `m à{Vnj ^mdZm
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IÊS – II
^mfm – i 

{hÝXr
Bg IÊS> _| Hw$b 30 àíZ h¢ &

g^r àíZ A{Zdm`© h¢ &

	 31.	 narjmAm| Ho$ dJuH$aU Ho$ à_wI AmYma H$m¡Z-go h¢ ?

	 (A)	 narjmAm| H$m ñdê$n			  (B)	 àíZm| H$m ñdê$n

	 (C)	 (A) Am¡a (B) XmoZm|			   (D)	 XmoZm| _| go H$moB© Zht

	 32.	 "dmñV{dH$Vm H$m kmZ hmoZm' AW© H$mo àH$Q> H$aZo dmbm Cn`wŠV _whmdam h¡ –

	 (A)	 Am±I| IwbZm			   (B)	 Am±I| ~ÝX H$aZm

	 (C)	 Am±I H$m Vmam			   (D)	 Am±I bJZm

	 33.	 "dM{ZH$m AMbXmg IrMr ar' aMZm Ho$ aM{`Vm h¢ –

	 (A)	 _ram ~mB©	 (B)	 M§X ~aXmB©	 (C)	 {edXmg JmS>U	 (D)	 n¥Ïdr amO amR>m¡‹S>

	 34.	 ~ÀMo H$s grIZo gå~ÝYr H${R>ZmB`m| H$m nVm bJmZo H$s {H«$`m H$mo H$hVo h¢ –

	 (A)	 CnMmamË_H$ {ejU			  (B)	 e¡j{UH$ {ZXmZ

	 (C)	 {H«$`mË_H$ AZwg§YmZ		  (D)	 ^mfm {ejU

	 35.	 ""hmW H§$JZ H$mo Amagr Š`m ?'' bmoH$mopŠV H$m {Z{hVmW© h¡ –

	 (A)	 hmW _| H§$JZ nhZo OmVo h¢ 

	 (B)	 àË`j H$mo à_mU H$s Amdí`H$Vm Zht hmoVr 

	 (C)	 H§$JZ H$mo Xn©U _| XoIZm Mm{hE 

	 (D)	 H§$JZ ûm¥§Jma H$m Amdí`H$ A§J h¡ 

	 36.	 "ghg§~§Y {d{Y' H$m {dH$mg {H$g _yb AdYmaUm na hþAm h¡ ?

	 (A)	 gånyU© kmZ nyU© BH$mB© h¡

	 (B)	 grIZo-{gImZo H$s {H«$`m EH$ Iob h¡ 

	 (C)	 _mV¥^mfm H$mo ~ÀMo ñdm^m{dH$ ê$n _| grIVo h¢ 

	 (D)	 AZwH$aU {d{Y H$m {gÕmÝV
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{ZåZ{b{IV JÚm§e Ho$ AmYma na àíZ g§»`m 37 go 42 VH$ Ho$ CÎma {b{IE :
Cn^moŠVdmXr g§ñH¥${V gm_§Vr g§ñH¥${V H$m ê$n Zht h¡, ~pëH$ `h Cn^moJ Ho$ gmYZmo§ H$s àMwaVm H$m à_mU h¡ & nhbo 
`h gmYZ ~‹S>o-~‹S>o ny±Orn{V`m| H$mo CnbãY hmoVo Wo Š`m|{H$ bmoJm| H$m _mZZm Wm {H$ "H$a_ ar gJi¡ ~mO¡' & do l_ 
_| {dídmg Zht aIVo Wo & AmO Am_ AmX_r H$mo ^r g^r gw{dYmE± {_bZo bJr h¢ & nhbo gm_§Vr bmoJ hr _moQ>aH$ma 
Am¡a hdmB©-OhmO H$s `mÌm H$m AmZÝX bo nmVo Wo, na A~ _Ü`_dJu` ì`pŠV ^r BZ g~H$m gwI bo ahm h¡ & AV: 
`h gm_§Vr g§ñH¥${V H$m {dH${gV ê$n Zht h¡, ~pëH$ OZ-OZ H$s g_¥{Õ H$m àVrH$ h¡ &

	 37.	 "à_mU' eãX H$m Cn`wŠV AW© h¡ –
	 (A)	 à_mX	 (B)	 g~yV	 (C)	 à_Îm	 (D)	 g_yb

	 38.	 {ZåZ{b{IV _| go H$m¡Z-gm eãX JÚm§e _| nwpëb¨J ê$n _| à`wŠV hþAm h¡ –
	 (A)	 g_¥{Õ			   (B)	 gw{dYmE±
	 (C)	 `mÌm			   (D)	 ny±Orn{V`m|

	 39.	 {ZåZ{b{IV _| go {H$g eãX H$m à`moJ gX¡d ~hþdMZ Ho$ ê$n _| hmoVm h¡ ?
	 (A)	 AmZÝX	 (B)	 `mÌm	 (C)	 bmoJ	 (D)	 àVrH$

	 40.	 ""Cn^moŠVmdmXr g§ñH¥${V gm_§Vr g§ñH¥${V H$m ê$n Zht h¡ &'' 
		  Cn`w©ŠV dmŠ` _| H$m¡Z-gm H$mb h¡ ?
	 (A)	 gm_mÝ` dV©_mZ H$mb		 (B)	 gm_mÝ` ^yVH$mb
	 (C)	 g§{X½Y ^yVH$mb			   (D)	 ^{dî`V² H$mb

	 41.	 JÚm§e _o§ à`wŠV amOñWmZr eãX "gJi¡' H$m AW© h¡ –
	 (A)	 gd©Ì	 (B)	 J§Xm	 (C)	 JbZo `mo½`	 (D)	 ^m½`

	 42.	 "g§ñH¥${V' eãX H$m ~hþdMZ ê$n hmoJm –
	 (A)		 g§ñH¥${V`m±			   (B)	 gm±ñH¥${VH$
	 (C)	 Ang§ñH¥${V			   (D)	 g§ñH¥${VE±

	 43.	 {OZ dmŠ`m| _| EH$ _w»` CndmŠ` VWm EH$ `m EH$ go A{YH$ Am{lV CndmŠ` hmoVo h¢, 
CÝh| H$hVo h¢ –

	 (A)	 gab dmŠ`			   (B)	 {_l dmŠ`
	 (C)	 g§`wŠV dmŠ`			   (D)	 g_mZm{YH$aU dmŠ`

	 44.	 ì`pîQ> {ejU Am¡a gm_y{hH$ {ejU _| g_Ýd` H$aZo Am¡a ^mfm grIZo _| ~ÀMm| H$s {H«$`merbVm 
~‹T>mZo H$m g\$b à`mg h¡ –

	 (A)	 ^mfm à`moJembm			   (B)	 H$åß`yQ>a Ûmam AZwXoeZ
	 (C)	 A{^H«${_V AZwXoeZ			  (D)	 S>mëQ>Z àUmbr
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	 45.	 amOñWmZr eãX "gmoJam' H$m {hÝXr ê$n h¡ –
	 (A)	 _ŠHo$ H$s amoQ>r			   (B)	 ~mOao H$s amoQ>r
	 (C)	 Johÿ± H$s amoQ>r			   (D)	 Mmdb H$s amoQ>r

	 46.	 ""{dÚmb` _| hþE N>mÌm| Ho$ ì`dhma-n[adV©Z Ho$ gå~ÝY _| àXÎmm| Ho$ g§H$bZ VWm CZH$s ì`m»`m 
H$aZo H$s à{H«$`m H$mo _yë`m§H$Z H$hVo h¢ &'' `h n[a^mfm {H$gHo$ Ûmam Xr JB© h¡ ?

	 (A)	 ŠdmboZ VWm hÝZm
	 (B)	 br. Oo. H«$m°Z~¡H$
	 (C)	 ñQ>obZo VWm am°g
	 (D)	 adrÝÐ ZmW Q>¡Jmoa

	 47.	 {hÝXr ^mfm {ejU _| dU© Ed§ eãXm| H$m ewÕ CÀMmaU Am¡a eãXm| H$s ewÕ dV©Zr H$s {ejm {H$g  
Am`w-dJ© Ho$ ~ÀMm| H$mo Xr OmVr h¡ ?

	 (A)	 3 go 5 df©			   (B)	 6 go 9 df©
	 (C)	 1 go 3 df©			   (D)	 9 go 15 df©

	 48.	 ì`mH$aU {ejU H$s àM{bV {d{Y`m± H$m¡Z-gr h¢ ?
	 (A)	 {ZJ_Z àUmbr			   (B)	 AmJ_Z àUmbr
	 (C)	 XmoZm| _| go H$moB© Zht			  (D)	 (A) Am¡a (B) XmoZm|

{ZåZ{b{IV JÚm§e Ho$ AmYma na àíZ g§»`m 49 go 58 VH$ Ho$ CÎma {b{IE :

^maVdf© na àH¥${V H$s {deof H¥$nm ahr h¡ & `hm± na g^r F$VwE± g_` na AmVr h¢ Am¡a n`m©ßV H$mb VH$ ahVr 
h¢ & F$VwE± AnZo AZwHy$b \$b-\y$bm| H$m g¥OZ H$aVr h¢ & Yyn Am¡a dfm© Ho$ g_mZ A{YH$ma Ho$ H$maU `h ^y{_ 
eñ`í`m_bm hmo OmVr h¡ & `hm± H$m ZJm{YamO {h_mb` H${d`m| H$mo gXm go àoaUm XoVm ahm h¡ Am¡a _wpŠV nmZo 
Ho$ BÀNw>H$ ì`pŠV`m| Ho$ {bE `hm± H$s Z{X`m± _mojXm{`Zr g_Pr OmVr ahr h¢ & `hm± H¥${Ì_ Yyn Am¡a amoeZr 
H$s Amdí`H$Vm Zht n‹S>Vr & `Ú{n ^maVr` _Zrfr O§Jb _| ahZm ng§X H$aVo Wo VWm{n do bmoH$-ì`dhmam| 
go ^r n[a{MV Wo & AmO ^r d¥jm| _| nmZr XoZm EH$ Ym{_©H$ H$m`© g_PVo h¢ & gy`© Am¡a MÝÐ Xe©Z ew^ _mZo 
OmVo h¢ &

	 49.	 {H$g {dH$ën _| "BH$' àË`` H$m à`moJ Zht hþAm h¡ ?
	 (A)	 gQ>rH$			   (B)	 a{gH$
	 (C)	 Ym{_©H$			   (D)	 d{U©H$

	 50.	 "`h ^y{_ eñ`í`m_bm hmo OmVr h¡ &' dmŠ` _| à`wŠV "`h' eãX h¡ –
	 (A)	 gmd©Zm{_H$ {deofU			  (B)	 n[a_mU ~moYH$ {deofU
	 (C)	 {ZOdmMH$ gd©Zm_			   (D)	 g§~§Y dmMH$ gd©Zm_

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


D 		 (16)	

RL-2

	 51.	 "H¥$nm' eãX h¡ –
	 (A)	 g§km			   (B)	 gd©Zm_

	 (C)	 {deofU			   (D)	 Aì``

	 52.	 "_wpŠV nmZo H$m BÀNw>H$' dmŠ`m§e Ho$ {bE Cn`wŠV eãX h¡ –
	 (A)	 _w_yf©	 (B)	 _w_wjw	 (C)	 {nnmgw	 (D)	 {Okmgw

	 53.	 "\$b-\y$bm|' _| g_mg h¡ –
	 (A)	 VËnwéf g_mg			   (B)	 H$_©Yma` g_mg

	 (C)	 ÛÝÛ g_mg			   (D)	 {ÛJw g_mg

	 54.	 ""`Ú{n ^maVr` _Zrfr O§Jb _| ahZm ng§X H$aVo Wo VWm{n do bmoH$ ì`dhmam| go ^r n[a{MV Wo &''  

_| aoIm§{H$V nX h¢ –

	 (A)	 {H«$`m {deofU Aì``		 (B)	 g_wÀM` ~moYH$ Aì``

	 (C)	 g§~§Y ~moYH$ Aì``			  (D)	 {dñ_`m{X ~moYH$ Aì``

	 55.	 òmoV Ho$ AmYma na "MÝÐ' eãX h¡ –
	 (A)	 VËg_	 (B)	 XoeO	 (C)	 {dXoer	 (D)	 VX²^d

	 56.	 "AZwHy$b' eãX H$m {dbmo_ eãX h¡ –
	 (A)	 XþHy$b			   (B)	 AZwgma

	 (C)	 à{VHy$b			   (D)	 AZwê$n

	 57.	 "n`m©ßV' eãX _| CngJ© h¡ –
	 (A)	 n[a	 (B)	 n`©	 (C)	 nam	 (D)	 AmßV

	 58.	 {H$g {dH$ën _| g^r eãX "O§Jb' Ho$ n`m©`dmMr h¢ –
	 (A)	 {dQ>n, Ðþ_, nmXn			   (B)	 AaÊ`, Vé, H$mZZ

	 (C)	 H$m§Vma, {d{nZ, AQ>dr		 (D)	 J«h, Xmd, dZ

	 59.	 narjmAm| Ho$ ñdê$n Ho$ AmYma na narjmE± {H$VZo àH$ma H$s hmoVr h¢ ?

	 (A)	 EH$	 (B)	 Xmo	 (C)	 VrZ	 (D)	 Mma

	 60.	 B§{Ð`m| Ho$ à`moJ Ho$ AmYma na lì`-Ñí` gm_J«r H$mo _moQ>o Vm¡a na {H$Z ^mJm| _| {d^ŠV {H$`m 

Om gH$Vm h¡ ?

	 (A)	 EH$	 (B)	 Xmo	 (C)	 VrZ	 (D)	 Mma
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SECTION – II

LANGUAGE – I 
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

	 31.	 In writing skill, English has mainly these three scripts :

	 (A)	 bold, clear, beautiful	 (B)	 sharp, smooth, glossy

	 (C)	 print, cursive, round	 (D)	 clean, neat, attractive

	 32.	 Continuous evaluation is built into total teaching learning programme and 
is a part of the ________ routine for the teacher.

	 (A)	 monthly			   (B)	 quarterly	

	 (C)	 half-yearly			   (D)	 daily

	 33.	 The principle of naturalness in the teaching of English promotes the

	 (A)	 home language			   (B)	 foreign language

	 (C)	 any language			   (D)	 simple language

	 34.	 The correct question for this sentence is :
		  ‘The angry neighbours had killed the mad dog.’

	 (A)	 Why do the angry neighbours kill the mad dog ?
	 (B)	 Why was the mad dog killed ?
	 (C)	 Whom had the mad dog killed ?
	 (D)	 Who had killed the mad dog ?

	 35.	 In Communicative Approach, the role of a teacher is :

	 (A)	 master			   (B)	 controller	

	 (C)	 facilitator			   (D)	 assessor

	 36.	 β| symbol appears in :

	 (A)	 major	 (B)	 maize	 (C)	 measure	 (D)	 zeal
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Passage (Q. Nos. 37 – 43) :

One feels tempted to look into a mirror when it is near one. I took a look. In those days 
I was a great admirer of beauty and I believed in making myself look handsome. I was 
unmarried and I was a doctor. I felt I had to make my presence felt. I picked up the comb 
and ran it through my hair and adjusted the parting so that it looked straight and neat.

	 37.	 Choose the sentence with superlative degree :
	 (A)	 Ravi’s line was straighter than Shalu’s.
	 (B)	 The straightest line was drawn by Ravi.
	 (C)	 Shalu drew a more straight line.
	 (D)	 The straight line was drawn by Ravi and Shalu.

	 38.	 The correct sequence is :
	 (A)	 handsome, more handsome, most handsome
	 (B)	 handsome, handsomer, handsomest
	 (C)	 handsome, handsome, more handsome
	 (D)	 handsomest, handsome, handsomest

	 39.	 ‘....... through my hair’. The underlined word is a 
	 (A)	 noun	 (B)	 pronoun	 (C)	 determiner	 (D)	 verb

	 40.	 The following is an abstract noun :
	 (A)	 doctor	 (B)	 hair	 (C)	 presence	 (D)	 parting

	 41.	 ‘Handsome’ is :
	 (A)	 noun	 (B)	 adverb	 (C)	 preposition	 (D)	 adjective

	 42.	 ....... ‘One feels tempted to look into a mirror’ lies in :
	 (A)	 past simple			   (B)	 present simple
	 (C)	 future simple			   (D)	 past perfect

	 43.	 ....... ‘I had to make my presence felt’ is an example of the following 
		  tense :
	 (A)	 past simple			   (B)	 past continuous
	 (C)	 past perfect			   (D)	 present simple
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Passage (Q. Nos. 44 – 50) :
Soil erosion is dangerous to agriculture. The terracing of the land, construction of bunds to 
check the flow of water, the practice of contour cultivation and the planting of appropriate 
types of vegetation are the measures that can be used to check soil erosion.

	 44.	 The word opposite in meaning of ‘construction’ is :
	 (A)	 convulsion			   (B)	 destruction	
	 (C)	 architecture			   (D)	 conversion

	 45.	 One word for ‘plants in general’
	 (A)	 seed	 (B)	 fertilizers	 (C)	 grainery	 (D)	 vegetation

	 46.	 ‘Suitable’ is the synonym of :
	 (A)	 remain	 (B)	 appropriate	 (C)	 alike	 (D)	 unsuitable

	 47.	 The base word for ‘erosion’ is :
	 (A)	 erose	 (B)	 rose	 (C)	 erode	 (D)	 erise

	 48.	 ‘Cultivation’ is derived from :
	 (A)	 Cultive			   (B)	 Cumulative	
	 (C)	 Cultivate			   (D)	 Culture

	 49.	 ‘Contour’ stands for
	 (A)	 a long tiresome tour
	 (B)	 opposite
	 (C)	 the outline or outer edge of something
	 (D)	 going in the wrong direction

	 50.	 The word that means same as ‘to make somebody or something stop’.
	 (A)	 check			   (B)	 bund	
	 (C)	 contour			   (D)	 erosion

	 51.	 The voiced sounds are produced by :
	 (A)	 drawing the vocal cords	 (B)	 separating the vocal cords
	 (C)	 the vibration of vocal cords	 (D)	 closing the vocal cords tightly

	 52.	 Select the correct question for :
		  The merchant left the shutter opened yesterday.
	 (A)	 When did the merchant left the shutter opened ?
	 (B)	 When had the merchant leave the shutter opened ?
	 (C)	 When did the merchant leave the shutter opened ?
	 (D)	 When does the merchant left the shutter opened ?
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	 53.	 In order to select/adopt a teaching method/approach for teaching of English one 
must take care of the

	 (A)	 age of the learner		  (B)	 economic ground of the learner
	 (C)	 category level			   (D)	 intelligence level

	 54.	 ‘It gives opportunity for thinking’ is a merit of :
	 (A)	 Reading aloud			   (B)	 Silent reading
	 (C)	 Both			   (D)	 None

	 55.	 The correct passive voice of ‘They haven’t stamped the letter’ is :
	 (A)	 The letter has not been stamped
	 (B)	 The letter had not been stamped
	 (C)	 The letter was not stamped by them
	 (D)	 The letter was not being stamped by them

	 56.	 Compared to ‘measurement’ the scope of ‘evaluation’ is :
	 (A)	 wider and formal			  (B)	 narrow and formal
	 (C)	 informal and narrow	 (D)	 wider and informal

	 57.	 Peer and self assessment can be improved using the given suggestions. Select the 
correct option :

	 (A)	 judgement and not giving feedback
	 (B)	 overlooking the mistakes
	 (C)	 giving regular feedback
	 (D)	 avoiding discussions

	 58.	 The types of exercises must be included in a text book are :
	 (A)	 well selected and graded
	 (B)	 random selection
	 (C)	 same exercises for all
	 (D)	 variety of exercises irrespective of class

	 59.	 The hostess asked my son, “Did you sleep well ?” The indirect speech of this is :
	 (A)	 The hostess inquired my son if he had slept well. 
	 (B)	 The hostess inquired my son if I had slept well.
	 (C)	 The hostess inquired my son if he sleep well. 
	 (D)	 The hostess inquired my son if she had slept well.

	 60.	 In this method we choose a correct sentence as a model and allow the learner to 
change its words :

	 (A)	 Direct method			   (B)	 Substitution method
	 (C)	 Grammar cum translation method	 (D)	 Dr. West’s method
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IÊS> – II 
^mfm> – I (àW_m)

g§ñH¥$V_²
AÌ qÌeV² àíZm: gpÝV &
gd} àíZm: g_mYo`m: &

	 31.	 ""dh amOm go ^y{_ _m±JVm h¡ &'' BË`ñ` dmŠ`ñ` g§ñH¥$VmZwdmX§ Hw$éV –
	 (A)	 g: Z¥nm` ^yq_ `mMVo		  (B)	 g: Z¥nñ` ^y{_: `mMVo 
	 (C)	 gm Z¥n§ dgwYm `mMVo			  (D)	 g: Z¥n§ ^yq_ `mMVo

	 32.	 ""_mV¥^mfm{ejU§ {dhm` H$m_{n AÝ`^mfm§ ~moY{`Vw§ _mV¥^mfm`m: à`moJ: Z H$aUr`:'' & BË`Ì 
H§$ {dqY àH$Q>rH$amo{V ?

	 (A)	 {díbofUmË_H${d{Y:			  (B)	 àË`j{d{Y:
	 (C)	 _yë`m‘ Z{d{Y:			   (D)	 nmam`U{d{Y:

	 33.	 EVofw ì`mH$aU-AZwdmX{d{Y: H$: ?
	 (A)	 àË`j{d{Y:	 (B)	 g_dm`{d{Y:	 (C)	 ^ÊS>maH$a{d{Y:	 (D)	 gyÌ{d{Y:

	 34.	 ""d`§ _Ywam{U \$bm{Z ImXm_: &'' BË`ñ` dmŠ`ñ` dmÀ`n[adV©Z§ Hw$éV –
	 (A)	 Añ_m{^: _Ywa¡: \$b¡: ImÚÝVo 	 (B)	 Añ_m{^: _Ywam{U \$bm{Z ImÚÝVo 
	 (C)	 d`§ _Ywa¡: \$b¡: ImÚVo	 (D)	 Añ_m{^: _Ywam: \$bm: ImÚÝVo

	 35.	 ^mfmH$m¡ebofw H${R>ZV_§ H$m¡eb§ {H$_² ?
	 (A)	 nR>Z_²	 (B)	 ldU_²	 (C)	 boIZ_²	 (D)	 gå^mfU_²

	 36.	 AmYw{ZH$_yë`m‘ Zà{dYrZm§ JwUmË_H$narjU§ {dÚVo –
	 (A)	 [aŠVñWmZny{V©narjU_²		 (B)	 gmjmËH$manarjU_²
	 (C)	 ~hþ{dH$ënmË_H$narjU_²	 (D)	 H${dVmdmMZnarjU_²

	 37.	 ""goZmnË`m gh ^yn{V: JÀN>{V &'' dmŠ`{_X§ g§emoY`V –
	 (A)	 goZmn{VZm gh ^yn{V: JÀN>{V 	 (B)	 goZmnV`o gh ^yn{V: JÀN>{V 
	 (C)	 goZmn{V: gh ^yn{V: JÀN>{V 	 (D)	 goZmnVo: gh ^yn{V: JÀN>{g

	 38.	 {ejH$: H$jm`m§ gm_mÝ`-_ÝX~w{Õ-à{V^mem{b{dÚm{W©Zm§ H¥$Vo C{MVì`dñWm§ gånmÚ nmR>`{V & 
BË`Ì H$: {gÕmÝV: ?

	 (A)	 Aä`mg{gÕmÝV:			   (B)	 ñdm^m{dH$Vm{gÕmÝV:
	 (C)	 _m¡{IH$H$m`©{gÕmÝV:		  (D)	 d¡`pŠVH${^ÝZVm{gÕmÝV:
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AYmo{b{IV§ íbmoH$_mYmarH¥$Ë` {ZåZm§{H$Vm: (39 – 42) àíZm: g_mYo`m: –
Jmd: àgÝZm: _ZwOm: àgÝZm:,
Xodm: àgÝZm: d«VXmZ`k¡: &
qH$ Zm_ VÚÝZ _am¡ g_¥Õ_²,
{dÚm-g_¥Õmo ^dVm {dYo`: &&

	 39.	 ""àgÝZ:'' BË`Ì H$: àË``: ?

	 (A)	 KÄm²	 (B)	 ŠV	 (C)	 eV¥	 (D)	 emZM²

	 40.	 Cn`w©ŠVo íbmoHo$ N>ÝXg: Zm_ {H$_² ?
	 (A)	 AZwîQw>n²	 (B)	 ^wO“à`mV_²	 (C)	 BÝÐdO«m	 (D)	 CnOm{V:

	 41.	 ""{dÚmg_¥Õ:'' BË`Ì H$: g_mg: ?
	 (A)	 Aì``r^md:	 (B)	 H$_©Yma`:	 (C)	 {ÛJw:	 (D)	 VËnwéf:

	 42.	 ""Xodm: àgÝZm: d«VXmZ`k¡: ^dpÝV &'' BË`pñ_Z² dmŠ`o {deofUnX§ {H$_² ?
	 (A)	 àgÝZm:	 (B)	 Xodm:	 (C)	 ^dpÝV	 (D)	 d«VXmZ`k¡:

	 43.	 ^Å>_WwamZmWempñÌU: H$mì`§ {dÚVo –
	 (A)	 gm{hË`d¡^d_²	 (B)	 VÎdeVH$_²	 (C)	 à{Vdo{eZr	 (D)	 ñdamÁ`_²

	 44.	 ""5 : 15'' g§ñH¥$VoZ g_`§ {bIV –
	 (A)	 nmXmoZfS²>dmXZ_²			   (B)	 nmXmoZnÄMdmXZ_²
	 (C)	 gnmXnÄMdmXZ_²			   (D)	 gmY©nÄMdmXZ_²

{ZåZ{b{IV_n{R>V§ JÚm§e_mYmarH¥$Ë` (45 – 48) àíZm: g_mYo`m: –
AW VoZ ì`mYoZ VÊSw>bH$UmZ² {dH$s ©̀ Omb§ {dñVrU©_² & g M àÀN>ÝZmo ̂ yËdm pñWV: & Vpñ_ÝZod H$mbo {MÌJ«rdZm_m 
H$nmoVamO: gn[admamo {d`{V {dgn©Z² VmZ² VÊSw>bH$UmZ² Aní`V² & VV: H$nmoVamO: VÊSw>bH$UbwãYmZ² H$nmoVmZ² 
à{V AH$W`V² ""Hw$Vmo@Ì {ZO©Zo dZo VÊSw>bH$UmZm§ gå^d: ? VpÝZê$ß`Vm§ VmdV² & ^Ð{_X§ Z ní`m{_ & gd©Wm 
A{dMm[aV§ H$_© Z H$Îm©ì`_² &''

	 45.	 ""VÊSw>bH$UmZm_²'' BË`Ì H$m {d^pŠV: ?
	 (A)	 fîR>r	 (B)	 V¥Vr`m	 (C)	 gßV_r	 (D)	 nÄM_r

	 46.	 ""gd©Wm A{dMm[aV§ H$_© Z H$Îm©ì`_² &'' BË`pñ_Z² dmŠ`o {deoî`nX§ {H$_² ?
	 (A)	 gd©Wm	 (B)	 H$Îm©ì`_²	 (C)	 A{dMm[aV_²	 (D)	 H$_©

	 47.	 ""{dñVrU©_²'' BË`Ì H$: àË``: ?
	 (A)	 ë`wQ²>	 (B)	 V¥M²	 (C)	 ŠV	 (D)	 ŠVdVw

	 48.	 ""{ZO©Z_²'' BË`Ì H$: g_mg: ?
	 (A)	 H$_©Yma`:	 (B)	 ÛÝÛ:	 (C)	 Aì``r^md:	 (D)	 ~hþd«r{h:
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	 49.	 ""H«$sS>m_mÜ`_oZ {ejU_²'' B{V Ho$Z {gÕmÝVoZ gh gå~pÝYV_² ?
	 (A)	 é{M{gÕmÝVoZ			   (B)	 g_dm`{gÕmÝVoZ
	 (C)	 _m¡{IH${gÕmÝVoZ			   (D)	 ñdm^m{dH${gÕmÝVoZ

	 50.	 ""h²'' H$mañ` CÀMmaUñWmZ_pñV –
	 (A)	 H$ÊR>:	 (B)	 Vmbw	 (C)	 _yYm©	 (D)	 AmoîR>m¡

	 51.	 ""OrdZñ` n¥îR>Û`_²'' H$ñ` aMZm {dÚVo ?
	 (A)	 Xod{f©-H$bmZmWempñÌU:	 (B)	 n§. Apå~H$mXÎmì`mgñ`
	 (C)	 n§. H$ë`mUXÎme_©U:		  (D)	 n§. lrH¥$îUam_^Å>ñ`

	 52.	 ""_Z: gË`oZ ewÜ`{V &'' BË`Ì aoIm§{H$VnX_mË` àíZ{Z_m©U§ Hw$éV –
	 (A)	 H$m	 (B)	 H$:	 (C)	 H$_²	 (D)	 {H$_²

	 53.	 ""{dÛmZ² ________ nyÁ`Vo &'' B`§ gypŠV: g_w{MVnXoZ nya`V –
	 (A)	 AÌ	 (B)	 EH$Ì	 (C)	 gd©Ì	 (D)	 AÝ`Ì

	 54.	 g§ñH¥$V^mfm{ejUñ` Ñí`gmYZofw A`mpÝÌH§$ Ñí`gmYZ_pñV –

	 (A)	 _mZ{MÌ_²			   (B)	 AmH$medmUr
	 (C)	 {ea:-Cn[a{MÌàjonH$_²	 (D)	 Üd{Z{dñVmaH$`ÝÌ_²

	 55.	 _ZmoJV^mdñ` _m¡{IH$m{^ì`pŠV: B{V H$ñ` H$m¡ebñ` CÔoí`§ ^d{V ?
	 (A)	 nR>ZH$m¡ebñ`			   (B)	 ^mfUH$m¡ebñ`
	 (C)	 boIZH$m¡ebñ`			   (D)	 ldUH$m¡ebñ`

	 56.	 Ho$Z _mÜ`_oZ narjUñ` CÀMV__mZXÊS>oofw g§ñH¥$VemñÌmUm§ _m¡{IH$naånam`m: g§ajU§ ^d{V ?
	 (A)	 {b{IVnarjm_mÜ`_oZ		 (B)	 ^mfUà{V`mo{JVm_mÜ`_oZ
	 (C)	 ebmH$mnarjm_mÜ`_oZ		 (D)	 íbmoH$dmMZnarjm_mÜ`_oZ

	 57.	 ""84'' B_m§ g§»`m§ g§ñH¥$VoV {bIV –
	 (A)	 MVwñer{V:	 (B)	 MËdm[a Aer{V:	 (C)	 MVwíer{V:	 (D)	 MVwaer{V:

	 58.	 _mhoûdagyÌofw AM²-dUm©: H${V ?
	 (A)	 Zd	 (B)	 Xe	 (C)	 ÛmXe	 (D)	 EH$mXe

	 59.	 ""H¥$fH$: Jm§ Z`{V &'' dmŠ`{_X§ b¥Q²>-bH$mao n[adV©`V –
	 (A)	 H¥$fH$: Jm§ Z`Vw 			   (B)	 H¥$fH$: Jm§ Zoî`{V
	 (C)	 H¥$fH$: Jm§ Z`oV²			   (D)	 H¥$fH$: Jm_² AZ`V²

	 60.	 gåàofUmË_H$ñ` {ejUm{YJ_ñ` _w»`V`m H${V VÎdm{Z ^dpÝV ?
	 (A)	 AîQ>m¡	 (B)	 Ìr{U	 (C)	 Ûo	 (D)	 nÄM
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 – ii 
> – i 

	 31.	
	 	 1.	 	 (i)	 	
	 	 2.	 	 (ii)	
	 	 3.	 	 (iii)	
	 	 4.	 	 (iv)	 	
	 (A)		 1 (iv)	 2 (iii)	 3 (ii)	 4 (i)	
	 (B)	 1 (i)	 2 (ii)	 3 (iii)	 4 (iv)
	 (C)		 1 (ii)	 2 (iv)	 3 (i)	 4 (iii)	
	 (D)	 1 (iii)	 2 (ii)	 3 (iv)	 4 (i)	

	 32.	
	 (A)		  			   (B)	 	
	 (C)	 			   (D)	

	 33.	
	 (A)		  			   (B)	
	 (C)		  			   (D)	

	 34.	
	 	 1.	 	 (i)	 	
	 	 2.	 	 (ii)	
	 	 3.	 	 (iii)	
	 	 4.	 	 (iv)	 		
	 (A)		 1 (iii)	 2 (i)	 3 (ii)	 4(iv)	
	 (B)	 1 (i)	 2 (ii)	 3 (iii)	 4(iv)
	 (C)		 1 (iii)	 2 (ii)	 3 (i)	 4(iv)	
	 (D)	 1 (ii)	 2 (iv)	 3 (iii)	 4(i)
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(35 39)

	 35.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 36.	
	 (A)		  		 (B)	
	 (C)		  			   (D)	

	 37.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 38.	  –
	 (A)		  	
	 (B)	
	 (C)		  	
	 (D)	

	 39.	

	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 40.	

	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 41.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 42.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
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	 43.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 44.	 	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 45.	

	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 46.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 47.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 48.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 49.	
	 i.		
	 ii.	
	 iii.		
	 iv.	
	 (A)		 i, ii, iii, iv	 (B)	 iii, i, iv, ii	 (C)	 iv, iii, ii, i	 (D)	 ii, i, iv, iii
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	 50.	
	 (A)		  	
	 (B)	
	 (C)		  	
	 (D)	
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	 51.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 52.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 53.	
	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 54.	
	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 55.	

	 (A)		  			   (B)	 	

	 (C)		  			   (D)	

	 56.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 57.	
	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 58.	
	 (A)		  			   (B)	 	
	 (C)	 			   (D)	

	 59.	
	 (A)		  	 (B)	

	 (C)		  			  (D)	

	 60.	
	 (A)		  			   (B)	
	 (C)	 			   (D)	 	
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 – ii 
 – i

 (n§Om~r)
30

	 31.	
	 (A)	 	 (B)	
	 (C)	 		  (D)	

	 32.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	
	 33.	
	 (A)	 		 (B)	
	 (C)	 			   (D)	

	 34.	
	 (A)	
	 (B)	
	 (C)	
	 (D)	

	 35.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 36.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	
	 37.	
	 (A)	 	 (B)	
	 (C)	 	 (D)	

	 38.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 39.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
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40 43

	 40.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 41.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 42.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 43.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 44.	
	 (A)	 		  (B)	
	 (C)	 			   (D)	

	 45.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 46.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

47 51

	 47.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 48.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

https://applink.adda247.com/d/XhqWf9lSap
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	 49.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 50.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	 	

	 51.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 52.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 53.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 54.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 55.	
	 (A)	 	 (B)	
	 (C)	 	 (D)	
	 56.	
	 (A)	
	 (B)	
	 (C)	
	 (D)	

	 57.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 58.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 59.	
	 (A)	 	 (B)	
	 (C)	 			   (D)	
	 60.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	
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 – iI 
 – i

 (JwOamVr)

30

	 31.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 32.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 33.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 34.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 35.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 36.	

	 (A)	 			   (B)	

	 (C)	 		  (D)	

	 37.	
	 (A)	 (.)	 (B)	 (:)	 (C)	 (?)	 (D)	 (!)

	 38.	
	 (A)	 		
	 (B)	
	 (C)	
	 (D)	
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	 39.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 40.	

	 (A)	 			   (B)	

	 (C)	 			   (D)	

	 41.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 42.	
	 (A)	 		
	 (B)	
	 (C)	
	 (D)	

	 43.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 44.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 45.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	
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46 48

	 46.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 47.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 48.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 49.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 50.	

	 (A)	 		 (B)	

	 (C)	 	 (D)	

	 51.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 52.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 53.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 54.	
	 (A)	 	 (B)	
	 (C)	 	 (D)	
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55 56

	 55.	

	 (A)	 			   (B)	

	 (C)	 			   (D)	

	 56.	

	 (A)	 			   (B)	

	 (C)	 			   (D)	

	 57.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 58.	
	 (A)	 	 (B)	
	 (C)	 	 (D)	

	 59.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 60.	

	 (A)	 	 (B)	

	 (C)	 	 (D)	
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IÊS> – III 
^mfm – II

{hÝXr
Bg IÊS> _| Hw$b 30 àíZ h¢ &

g^r àíZ A{Zdm`© h¢ &

	 61.	 à{VnwpîQ>, nwZ: {Z`moOZ, nwZ: {ejU Ed§ nwZ: à{VnwpîQ> `o {ejU Ho$ {H$g CnmJ_ Ho$ MaU h¢ ?

	 (A)	 aMZm {ejU	 (B)	 gyú_ {ejU	 (C)	 AZwdmX {ejU	 (D)	 CÀMmaU {ejU

	 62.	 dh H$m¡Z-gm H$m¡eb h¡ Omo _mV¥^mfm _| Vmo gd©àW_ ñdm^m{dH$ ê$n go grI {b`m OmVm h¡ na 

_mÌoVa ^mfm _| grIZo Ho$ A§{V_ MaU _| gà`ËZ grIm OmVm h¡ ?

	 (A)	 {bIZm	 (B)	 _ZZ H$aZm	 (C)	 ~mobZm	 (D)	 n‹T>Zm

	 63.	 ""_¢ AmVm na§Vw Vw_Zo ~wbm`m Zht &'' dmŠ` _| aoIm§{H$V eãX h¡-

	 (A)	 g_mZm{YH$aU g_wÀÀ`~moYH$ Aì``	 (B)	 {Z{_ÎmdmMH$ g_wÀÀ`~moYH$ Aì``

	 (C)	 gmÑí`dmMH$ g§~§Y~moYH$ Aì``	 (D)	 hoVwdmMH$ g§~§Y~moYH$ Aì``

	 64.	 {ZåZ{b{IV _| go CnbpãY narjU Ho$ {Z_m©U H$m nX Zht h¡- 

	 (A)	 `moOZm ~ZmZm &

	 (B)	 narjU Ho$ àma§{^H$ ê$n H$s aMZm H$aZm &

	 (C)	 narjU H$m nwZ{Z©arjU H$aZm &

	 (D)	 g§àË``{dñWm{nV H$aZm &

	 65.	 amOñWmZr ^mfm Ho$ à{gÕ aMZmH$ma `mXdoÝÐ e_m© M§Ð Ûmam {b{IV ZmQ>H$ h¡-

	 (A)	 nÝZmYm`			   (B)	 T>mobm _adU

	 (C)	 Vmg am¡ Ka			   (D)	 Ya_OwÕ

	 66.	 AZw{b{n, à{V{b{n, lw{V{b{n Am{X H$m`© {H$g ^m{fH$ XjVm H$s àmpßV _| ghm`H$ h¢ ?

	 (A)	 ldU	 (B)	 dmMZ	 (C)	 nR>Z	 (D)	 boIZ

	 67.	 H$m¡Z-gr CÚmoVZ gm_J«r {ejU _| A{YH$ à^mdr {gÕ hmoJr ?

	 (A)	 lì` gm_J«r			   (B)	 Ñí` gm_J«r

	 (C)	 Ñí`-lì` gm_J«r			   (D)	 âb¡e H$mS>©

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


D		 (40)	

RL-2

{ZåZ{b{IV JÚm§e H$mo n‹T>H$a àíZ g§»`m 68 go 77 VH$ Ho$ CÎma Xr{OE &

^maVr` _Z g§nyU© àH¥${V Am¡a Z{X`m| H$m ^r _mV¥ ñdê$n _| Xe©Z H$aVm h¡ & J§Jm H$mo h_ _mVm H$hVo h¢, Vwbgr 

H$mo h_Zo _mVm _mZm, AídËW d¥j H$s h_Zo nyOm H$s Am¡a BZ g~Ho$ _mÜ`_ go g_mO Ho$ _Z _| àH¥${V Ho$ à{V 

EH$ nyÁ` ^md CËnÝZ {H$`m &

h_ Vmo H$~yVam|, {M{‹S>̀ m| H$mo XmZm MwJmVo h¢, h_ Vmo Mt{Q>̀ m| VH$ H$mo AmQ>m S>mbVo h¢ Š`m|{H$ BZ g~Ho$ ApñVËd H$m 

H$moB© à`moOZ h¡ & Bg {díd Ho$ àË òH$ no‹S>-nm¡Yo, Ord-O§Vw H$m AnZm à`moOZ h¡ & Bg à`moOZ H$mo OmZH$a gmao 

{díd H$s aMZm _| CgH$m Š`m ñWmZ h¡, BgH$mo nhMmZH$a CgH$mo ~ZmE aI|, V^r g_Ýd` R>rH$ go ~¡R>oJm & Bgr 

H$mo h_mao `hm± Y_© H$hm h¡ & CgH$mo nhMmZH$a, CgHo$ {Z`_m| H$mo OmZH$a VXZwgma `{X h_ AnZr gmar aMZm Am¡a 

{dH$mg-nW H$m Cn`moJ H$a|Jo Vmo àH¥${V Ho$ gmW em`X h_mam gwg§JV {dH$mg hmo gHo$Jm & h_mar àmMrZ H$mb go hr 

`h AdYmaUm ahr h¡ {H$ àH¥${V Ho$ gmW {_bH$a Mbmo Am¡a Bg{bE àH¥${V Ho$ à{V nyÁ`^md h_Zo CËnÞ {H$`m & 

n¥Ïdr H$mo h_Zo _mVm H$hm h¡ & YaVr YmaU H$aVr h¡ Bgr{bE Cgo _mVm H$hm & dmñVd _| {Og Yam Am¡a àH¥${V 

Ho$ ghmao g§nyU© _mZd Om{V H$m ApñVËd {Z^©a h¡, dhr AmO g§H$Q>J«ñV hmo JB© h¡ & npíM_ H$s Cn^moJdmXr 

ÑpîQ> go àH¥${V Ho$ A_`m©{XV Cn^moJ H$m {dMma {dH${gV hþAm h¡ &

h_mar àWm g§`{_V Cn^moJ H$s h¡ & h_mao dV©_mZ Ho$ {bE ^r `hr {dH$mg-nW loîR> h¡ Am¡a `hr eof g§gma 

H$mo ZîQ> hmoZo Ho$ _mJ© go ~MmZo dmbm _mJ©Xe©H$ {dH$mg-nW hmo gH$Vm h¡ &

	 68.	 "d¥j' eãX _| dUm] H$m C{MV H«$_ h¡-

	 (A)	 d² + A + a + H²$ + M² + A	 (B)	 d² + a² + B + H²$ + f² + A

	 (C)	 d² + F$ + B + H²$ + f² + A	 (D)	 d² + F$ + H²$ + f² + A

	 69.	 "npíM_' eãX _| àË`` h¡-

	 (A)	 B©_	 (B)	 níM²	 (C)	 B_	 (D)	 B_²

	 70.	 ""àH¥${V Ho$ gmW em`X h_mam gwg§JV {dH$mg hmo gHo$Jm &''  

dmŠ` _| à`wŠV H$mb h¡-

	 (A)	 gm_mÝ` ^{dî`V² H$mb	 (B)	 g§^mì` ^{dî`V² H$mb

	 (C)	 AmkmW© ^{dî`V² H$mb	 (D)	 g§{X½Y ^{dî`V² H$mb

	 71.	 "AídËW' eãX h¡-

	 (A)	 VËg_	 (B)	 VX²^d	 (C)	 XoeO	 (D)	 {dXoer

	 72.	 _mV¥ H$m VX²^d ê$n h¡-

	 (A)	 _mÌ	 (B)	 _§Ì	 (C)	 _mWm	 (D)	 _mVm
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	 73.	 "g§gma' eãX H$m g§{Y-{dÀN>oX h¡-

	 (A)	 g_ + gma	 (B)	 gZ² + gma	 (C)	 g_² + Amgma	 (D)	 g_² + gma

	 74.	 {ZåZ{b{IV _| go "à' CngJ© go ~Zm hþAm eãX h¡-

	 (A)	 àmMrZ	 (B)	 àWm	 (C)	 àH¥${V	 (D)	 àË`oH$

	 75.	 "Ord-O§Vw' eãX _| g_mg h¡-

	 (A)	 Aì``r^md g_mg			   (B)	 H$_©Yma` g_mg

	 (C)	 VËnwéf g_mg			   (D)	 Û§Û g_mg

	 76.	 "àmMrZ' eãX h¡-

	 (A)	 g§km	 (B)	 gd©Zm_	 (C)	 {deofU	 (D)	 H$maH$

	 77.	 {ZåZ{b{IV eãXm| _| go eãXH$moe _| H$m¡Z-gm eãX g~go ~mX _| AmEJm ?

	 (A)	 àH¥${V	 (B)	 à`moOZ	 (C)	 npíM_	 (D)	 n¥Ïdr

	 78.	 amOñWmZr H$mì` H$s à{gÕ H¥${V "dra gVgB©' {H$g H${d H$s aMZm h¡ ?

	 (A)	 H$Ýh¡`m bmb go{R>`m			  (B)	 n¥ÏdramO amR>m¡‹S>

	 (C)	 g§H$aXmZ gm_moa			   (D)	 gy`©_ëb _rgU

	 79.	 ""_yë`m§H$Z, CX²Xoí`m| H$s àmpßV H$s gr_m H$m {ZU©` H$aZo H$s à{H«$`m h¡ &'' CŠV H$WZ h¡-

	 (A)	 H$moR>mar Am`moJ H$m			   (B)	 _mBHo${bg H$m

	 (C)	 gr. gr. am°g H$m			   (D)	 pŠdbZ Ed§ h¡Zm H$m

	 80.	 ""Xmo ì`pŠV`m| Ho$ H$m_ H$s ~mVm| _| Vrgao H$m hñVjon H$aZm &'' Ho$ Ame` hoVw Cn`wŠV bmoH$mopŠV h¡-

	 (A)	 WmoWm MZm ~mOo KZm		  (B)	 ~mdZ Vmobo nmd aÎmr

	 (C)	 BZ {Vbm| _| Vob Zht		  (D)	 Xmb ^mV _| _ygbM§X

	 81.	 _m¡{IH$ Ed§ {b{IV àíZmoÎma Ûmam {H$VZo ^mfm`r-H$m¡ebm| H$m {dH$mg {H$`m Om gH$Vm h¡ ?

	 (A)	 VrZ	 (B)	 Mma	 (C)	 EH$	 (D)	 Xmo

	 82.	 {H$g {ejm emñÌr Zo {bIZo H$s {ejm H$mo n‹T>Zo go nyd© ghr _mZm h¡ ?

	 (A)	 OmZ S>rdr Zo	 (B)	 _¡ŠSy>Jb Zo	 (C)	 S´>oda Zo	 (D)	 _m°ÊQ>ogar Zo
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{ZåZ{b{IV nÚm§e Ho$ AmYma na àíZ g§»`m 83 go 87 VH$ Ho$ CÎma Xr{OE &
~rVr {d^mdar OmJ ar &
A§~a-nZKQ> _| Sw>~mo ahr -
Vmam-KQ> Cfm ZmJar
IJ-Hw$b Hw$b-Hw$b-gm ~mob ahm,
{H$gb` H$m A§Mb S>mob ahm, 
bmo `h b{VH$m ^r ^a bmB©
_Yw-_wHw$b Zdb ag JmJar &
AYam| _| amJ A_§X {nE,
AbH$mo _| _b`O ~§X {H$E, 
Vy A~ VH$ gmoB© h¡ Ambr !
Am±Im| _| ^ao {dhmJ ar &

	 83.	 nÚm§e _| à^mdr ZmX-gm¢X`© H$m H$maU h¡-
	 (A)	 {ÛËd ì`§OZ àYmZ eãX	 (B)	 AmoOJwU H$m à^md
	 (C)	 _yY©Ý` dUm] H$s Amd¥{Îm	 (D)	 g_mZ VwH$ dmbo eãXm| H$m ~mhþë`

	 84.	 nÚm§e _| à`wŠV ^mfm Ho$ g§X^© _| Cn`wŠV H$WZ h¡-
	 (A)	 VX²^d Ed§ XoeO eãX àYmZ ^mfm	 (B)	 Am_~mob Mmb `wŠV gm_m{gH$ nXmdbr
	 (C)	 {dXoer eãX àYmZ ^mfm	 (D)	 VËg_ eãXmdbr `wŠV ^mfm

	 85.	 ""IJ-Hw$b Hw$b-Hw$b-gm ~mob ahm &'' n§pŠV _| {ZåZ{b{IV _| go Ab§H$ma h¡- 
	 (A)	 íbof	 (B)	 dH«$mopŠV	 (C)	 AZwàmg	 (D)	 ê$nH$

	 86.	 nÚm§e _| ì`ŠV _w»` g§Xoe h¡-
	 (A)	 nËZr Ho$ à{V g_{n©V EH${ZîR> ào_	 (B)	 dg§V F$Vw H$s _mXH$Vm H$m {MÌU
	 (C)	 OmJaU H$s àoaUm			   (D)	 JmoYy{b dobm H$m _Zmoa_ dU©Z

	 87.	 ^md-gm¢X`© H$s ÑpîQ> go AZwn`wŠV {dH$ën h¡-
	 (A)	 àH¥${V Ho$ gm¢X`© H$m {MÌU	 (B)	 ào`gr H$s _mXH$Vm H$m {MÌU
	 (C)	 Cfm Ho$ AmJ_Z H$m {MÌU	 (D)	 _Ü` am{Ì _| Jm`o OmZo dmbo JrV H$m {MÌU

	 88.	 ""à{V`mo{JVm R>rH$ VrZ ~OZo na ewê$ hmoJr &'' dmŠ` _| {ZåZ{b{IV _| go H$maH$ h¡-
	 (A)	 g§~§Y H$maH$	 (B)	 H$aU H$maH$	 (C)	 g§àXmZ H$maH$	 (D)	 A{YH$aU H$maH$

	 89.	 dmŠ` _| nXH«$_ go g§~§{YV Ag§JV H$WZ h¡-
	 (A)	 dmŠ` _| H$Îmm© Am¡a H$_© Ho$ ~mX {H«$`m AmVr h¡ &
	 (B)	 {H«$`m {deofU àm`: {H«$`m Ho$ ~mX à`moJ _| AmVm h¡ &
	 (C)	 H$Îmm©, H$_© Am¡a {H«$`m Ho$ {dñVmaH$ (nyaH$) àm`: BZHo$ nyd© _| AmVo h¢ &
	 (D)	 nyd©H$m{bH$ {H«$`m _w»` {H«$`m go nyd© AmVr h¡ &

	 90.	 {dÚm{W©`m| Ho$ qMVZ Ed§ A{^ì`pŠV Ho$ à^mdr _yë`m§H$Z hoVw Cn`wŠV {b{IV narjm h¡-
	 (A)	 dñVw{ZîR> narjm			   (B)	 [aŠV-ñWmZ ny{V© narjm
	 (C)	 àm`mo{JH$ narjm			   (D)	 {Z~§YmË_H$ narjm
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SECTION – III

LANGUAGE – II 
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

	 61.	 A piece of writing that is presented primarily through dialogues. It is known as :
	 (A)	 An Elegy 	 (B)	 A Sonnet	 (C)	 A Drama	 (D)	 A Short Story

	 62.	 Which one of these is not an advantage of communicative approach ? 
	 (A)	 Communicative approach is practical in use
	 (B)	 It lays stress on the functional value of the language
	 (C)	 It develops the writing ability
	 (D)	 This approach is situational, meaningful, motivating others and is self rewarding

	 63.	 An implied simile is also known as : 
	 (A)	 Metaphor	 (B)	 Simile	 (C)	 Assonance	 (D)	 Personification

	 64.	 “Evaluation is an assignment of symbols to a phenomenon in order to characterise 
the worth or value of a phenomena usually with reference to some social, cultural 
or scientific standard.” This is quoted by :

	 (A)	 T. W. Wringstone		  (B)	 Clara M. Brown
	 (C)	 Hanna			   (D)	 Bradfield and Moredock

	 65.	 ‘The rain in Spain falls mainly on the plain’ which figure of speech is used in this line ? 
	 (A)	 Assonance 	 (B)	 Simile	 (C)	 Metaphor 	 (D)	 Alliteration

   	Choose correct modals to fill the blanks (for Q.Nos. 66 – 67) : 

	 66.	 Your sister is very serious, you ________ take her to a doctor. (obligation)
	 (A)	 may 	 (B)	 shall 	 (C)	 must 	 (D)	 should

	 67.	 You _______ punished for this. (Threat)  
	 (A)	 should be 	 (B)	 shall be 	 (C)	 must be 	 (D)	 could be

	 68.	 ‘Death lays her icy hands on all’ which figure of speech is used in this line ?
	 (A)	 Metaphor 	 (B)	 Assonance	 (C)	 Simile	 (D)	 Personification

	 69.	 Which one of these is not a quantitative technique of evaluation ?
	 (A)	 Observation Techniques	 (B)	 Practical Techniques
	 (C)	 Oral Techniques			   (D)	 Written Techniques

	 70.	 Phonetic symbols of ‘cloth’ is :
	 (A)	 /kləð/	 (B)	 /kləðz/	 (C)	 /cloθ/	 (D)	
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Read the following extract of the poem and answer the Q.Nos.  71 – 73 : 

How beautiful is the rain !	 1

How it clatters along the roofs, 	 2

Like the tramp of hoofs 	 3

How it gushes and struggles out 	 4

From the throat of the overflowing spout !	 5

Across the window-pane 	 6

It pours and pours; 	 7

and swift and wide, 	 8

with a muddy tide 	 9

Like a river down the gutter roars. 	 10

	 71.	 ______ is the rhyme scheme in the last four lines.
	 (A)	 A B C D	 (B)	 A B A B	 (C)	 A B B A	 (D)	 A A B B

	 72.	 The seventh line is an example of :
	 (A)	 Metaphor			   (B)	 Simile
	 (C)	 Personification 			   (D)	 Alliteration

	 73.	 Which literary device is used in second and third lines of the extract ? 
	 (A)	 Metaphor 	 (B)	 Simile	 (C)	 Alliteration 	 (D)	 Assonance

	 74.	 Which one is not an advantage of online remedial teaching ? 
	 (A)	 The instruction pace is flexible as well as the class participation 
	 (B)	 It is not cost effective 
	 (C)	 Elimination of barriers of time and space
	 (D)	 A well designed online course makes it easy for the students to navigate and 

search adequate informations

	 75.	 Short monophthongs are ____ in numbers.

	 (A)	 5	 (B)	 6	 (C)	 7	 (D)	 8

	 76.	 ‘Blowing his own trumpet’ means :
	 (A)	 Praising himself			   (B)	 Playing his trumpet
	 (C)	 Assaulted 			   (D)	 Something improbable
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	 77.	 Octave and Sestet are parts of  a/an :
	 (A)	 Shakespearean sonnet 	 (B)	 Petrarchan sonnet 
	 (C)	 English sonnet			   (D)	 Elegy

	 78.	 Choose the option which is not a characteristic of Good Tests and Examinations :
	 (A)	 Tests and examinations must take into account the aims and objectives of 	

teaching English
	 (B)	 They should ask students only what has been taught
	 (C)	 They should be very easy
	 (D)	 The answers to question should not be very long

Passage for (Q.Nos. 79 – 84) :

To have access of safe water and to avoid water crisis in the near future it is necessary that 
correct policies and schemes are made. Water conservation and proper management can also 
be considered as one of the effective steps to avoid water crisis. India has a long tradition of 
water harvesting. Harvesting rainwater is one of the most effective ways to tackle the water 
crisis. The basic principle is, to collect the rain water where it falls, use it and let it seep into 
the ground. 

	 79.	 Fill in the blanks with appropriate linking device. Linking devices are given below :  
______ water conservation _____ proper management can also be considered as one 
of the effective steps to avoid water crisis. 

	 (A)	 Although – yet 			   (B)	 Not only – but also 
	 (C)	 Neither – nor			   (D)	 As – so

	 80.	 Water harvesting _____ an important technique of water conservation. 
	 (A)	 has	 (B)	 are	 (C)	 have	 (D)	 is

Fill in the blanks with appropriate linking devices which are given below : 
(for Q.Nos. 81 – 82) 

	 81.	 Water conservation _____  proper management can be considered as one of the 
effective steps to avoid water crisis. 

	 (A)	 as well as 	 (B)	 or 	 (C)	 as	 (D)	 though

	 82.	 _____correct policies _____ schemes are made to avoid water crisis. 
	 (A)	 As – as 			   (B)	 Neither – nor
	 (C)	 Both – and 			   (D)	 Either – or
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	 83.	 A correct policy as well as schemes _____ required to avoid water crisis. 
	 (A)	 is 			   (B)	 are
	 (C)	 have			   (D)	 were

	 84.	 An appropriate title for the above passage will be :
	 (A)	 Food and water 			   (B)	 Water in seas
	 (C)	 Water for all 			   (D)	 Water in rivers

	 85.	 Phonetic symbols for ‘clumsy’ is :
	 (A)	 /kl∧mzi/	 (B)	 /kl3:msi/	 (C)	 /kəmsI:/	 (D)	 /kl3mzi/

	 86.	 ‘Played me false’ means :
	 (A)	 tell a lie to me 			   (B)	 play a game mischievously with me 
	 (C)	 tell false about me 	 (D)	 deceived me

	 87.	 Which one of these is not a challenge of teaching English ? 
	 (A)	 Several methods in language teaching
	 (B)	 Use of teaching materials
	 (C)	 Poor lesson preparation
	 (D)	 Small class size

	 88.	 Which method helps the learner to speak fluently and accurately in the target   
language ?

	 (A)	 Direct method 			   (B)	 Bilingual method
	 (C)	 Translation method 	 (D)	 Substitution method

	 89.	 Which one of these is not a principle of Grammar translation method of teaching 
English ? 

	 (A)	 Translation interprets foreign phraseology best
	 (B)	 Inductive teaching of grammar
	 (C)	 The words and expressions in English can be easily interpreted in the mother 

tongue of the students
	 (D)	 Structure of a foreign language can be easily learnt, when compared and 	

constructed to those of the mother tongue

	 90.	 Vowel sound of ‘hear’ will be : 
	 (A)	 Iə			   (B)	 eə
	 (C)	 e3:			   (D)	 æ
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IÊS> – III 
^mfm> – II ({ÛVr`m)

g§ñH¥$V_²
AÌ qÌeV² àíZm: gpÝV &

gd} àíZm: g_mYo`m: &

   	{ZåZ{b{IV§ íbmoH$_mYmarH¥$Ë` àíZm: (61 – 65) g_mYo`m: -

	 H$ë`mUqghO`_ëb{dembdj:
		 gå^yVemo{UVn{dÌV_m ñWbr`_² &
		 draÛ`oZ {ZOJm¡adajUmW©_²
		 AÌmgdmo Owhþ{dao g_amp½ZHw$ÊS>o &&

	 61.	 “ {dembdj:” BË`Ì H$: g_mg: ?
	 (A)	 ÛÝÛ:	 (B)	 Aì``r^md:	 (C)	 H$_©Yma`:	 (D)	 {ÛJw:

	 62.	 “gå^yV_² ” BË`Ì H$: àË``: ?
	 (A)	 ŠVdVw	 (B)	 ŠV	 (C)	 emZM²	 (D)	 eV¥

	 63.	 Cn`w©wŠVo íbmoHo$ H$mo@b‘>ma: ?
	 (A)	 ê$nH$mb‘>ma:	 (B)	 Cn_mb‘>ma:	 (C)	 ì`{VaoH$mb‘>ma:	 (D)	 {d^mdZmb‘>ma:

	 64.	 Cn`w©ŠVo íbmoHo$ N>ÝXg: Zm_ {H$_² ?
	 (A)	 CnOm{V:	 (B)	 d§eñW_²	 (C)	 dgÝV{VbH$m	 (D)	 _m{bZr

	 65.	 “ñWbr`_²” BË`Ì H$: gpÝY: ?
	 (A)	 A`m{XgpÝY:	 (B)	 JwUgpÝY:	 (C)	 naê$ngpÝY:	 (D)	 gdU©XrK©gpÝY:

	 66.	 “B© ” H$mañ` CÀMmaUñWmZ_pñV -
	 (A)	 _yYm©	 (B)	 Vmbw	 (C)	 AmoîR>m¡	 (D)	 H$ÊR>:

	 67.	 nÚ {ejUñ` H$pñ_Z² {dYm¡ àíZm: ì`mH$aUgå~pÝYZ: ^dpÝV ?
	 (A)	 XÊS>mÝd`{dYm¡	 (B)	 IÊS>mÝd`{dYm¡	 (C)	 AmJ_Z{dYm¡	 (D)	 {ZJ_Z{dYm¡

	 68.	 “EH$XemZm_² AîQ>” H$m g§»`m ^d{V ?
	 (A)	 AîQ>er{V:	 (B)	 AîQ>m{eVr:	 (C)	 AîQ>mer{V:	 (D)	 AîQ>merVr:

	 69.	 “46” BË`ofm g§»`m g§ñH¥$Vo H$m ?
	 (A)	 fQ²>MËdm[a¨eV² 	 (B)	 fS²>MËdm[a§eV²²	 (C)	 MËdm[a fQ²>	 (D)	 MËdm[a¨eV² fQ²>
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	 70.	 “V§ ~mbH§$ nwñVH§$ Xo{h &”
		           dmŠ`{_X§ g§emoY`V -
	 (A)	 Vñ_¡ ~mbH$m` nwñVH§$ Xo{h &	 (B)	 VoZ ~mbHo$Z nwñVH§$ Xo{h &
	 (C)	 Vñ_mV² ~mbH$mV² nwñVH§$ Xo{h &	 (D)	 Vpñ_Z² ~mbHo$ nwñVH§$ Xo{h &

	 71.	 Aä`mg{gÕmÝVñ` Ana§ Zm_ {H$_² ?
	 (A)	 AZwnmV{gÕmÝV:			   (B)	 ~hþ_wIr{gÕmÝV:
	 (C)	 {H«$`merb{gÕmÝV:			   (D)	 _yë`m‘>Z{gÕmÝV:

	 72.	 EVofw Ñí`gmYZ§ ZmpñV -
	 (A)	 {^{Îmn{ÌH$m:	 (B)	 à{VH¥${V:	 (C)	 aoIm{MÌ_²	 (D)	 AmH$medmUr

	 73.	 MVwfw© ^mfmH$m¡ebofw J«hUmË_H§$ H$m¡ebÛ`§ {dÚVo -
	 (A)	 boIZ§ ldU§ M &			   (B)	 nR>Z§ ^mfU§ M &
	 (C)	 ldU§ nR>Z§ M &			   (D)	 ^mfU§ boIZ§ M &

	 74.	 “^² ” H$mañ` CÀMmaUñWmZ_² ApñV -
	 (A)	 XÝVm:	 (B)	 AmoîR>m¡	 (C)	 _yYm©	 (D)	 Vmbw

	 75.	 _m¡{IH${dYo: Ana§ Zm_ {H$_² ?
	 (A)	 dmVm©bmn{d{Y:			   (B)	 nmR>çnwñVH${d{Y:
	 (C)	 XÊS>mÝd`-IÊS>mÝd`{d{Y:	 (D)	 AÝd`ì`{VaoH${d{Y:

	 76.	 _mÌmË_H$_yë`m‘>Zñ` à{d{Y: dÎm©Vo -
	 (A)	 dñVw{ZîR> narjm			   (B)	 _VgyMr
	 (C)	 ñVa_m{nZr			   (D)	 AdbmoH$Z_²

	 77.	 g§ñH¥$VoZ AZwdmX§ Hw$éV -

		  “ {nVm nwÌ go àíZ nyN>oJm” &

	 (A)	 {nVa§ nwÌ§ àíZ§ àú`{V &	 (B)	 {nVm nwÌ§ àíZ§ àú`{V &
	 (C)	 {nÌm nwÌoU àíZ§ àú`{V &	 (D)	 {nVm nwÌñ` àíZ§ àú`{V &

	 78.	 d¡{XH$H$mbo à`wŠV{ejU{d{Y: H$: ?
	 (A)	 Q>rH$m{d{Y:	 (B)	nmR>çnwñVH${d{Y:	 (C)	 nmR>embm{d{Y:	 (D)	 {Û^mfm{d{Y:

	 79.	 emñÌg§ajUm` àmMrZm narjm H$m ?
	 (A)	 {b{IV narjm	 (B)	 àho{bH$m narjm	 (C)	 ebmH$m narjm	 (D)	 àíZ narjm

	 80.	 “gÝVmof: na_§ ___________&” B_m§ gypŠV¨ g_w{MVoZ nXoZ nya`V -
	 (A)	 \$b_²	 (B)	 Xþ:I_²	 (C)	 H$_©	 (D)	 gwI_²
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	 81.	 “nwÌ: MÝÐ_² BÀN>{V ”& BË`ñ` dmÀ`n[adV©Z§ Hw$éV -
	 (A)	 nwÌ: MÝÐoU Bî`Vo &			  (B)	 nwÌoU MÝÐ: BÀN²>`Vo &
	 (C)	 nwÌoU MÝÐ: Bî`Vo &			  (D)	 nwÌoU MÝÐñ` Bî`Vo &

    {ZåZ{b{IV_n{R>V§ JÚm§e_mYmarH¥$Ë` àíZm: (82 – 86) g_mYo`m: -

		 _mZdOrdZñ` gm\$ë`§ Ë`mJoZ¡d ̂ {dVw_h©{V, Z Vw ̂ moJoZ & nmíMmË`m g§ñH¥${V{h© gd©Wm Cn^moJg§ñH¥${V: gdm©Z² 
^moJ_od {ej`{V & ̂ maVr`m g§ñH¥${VñVw gd©Wm AmÜ`mpË_H$s, ̂ moJñWmZo ̀ moJ_od {ej`{V & nmíMmÎ`m gä`Vm 
Ibw naofm§ ̂ mJ_nhVw©_{n g§H$moM§ ZmZŵ d{V & ̂ maVr`gä`Vm nwZ: naofm_² CnH$mam` {ZOñdmWm©Z² Ë`ŠVw§ àoa`{V & 
Ë`mJmo {h Añ`m EH$mo _hm_ÝÌ: `oZ {dûdH$ë`mU§ ^{dVw_h©{V &

	 82.	 “Ë`mJoZ¡d” BË`Ì gpÝY: H$: ?
	 (A)	 A`m{XgpÝY:	 (B)	 `U²-gpÝY:	 (C)	 JwUgpÝY:	 (D)	 d¥{ÕgpÝY:

	 83.	 “Ë`mJmo {h Añ`m EH$mo _hm_ÝÌ: &” BË`Ì Aì``nX§ {H$_² ?
	 (A)	 Ë`mJ:	 (B)	 Añ`m:	 (C)	 _hm_ÝÌ:	 (D)	 {h

	 84.	 “gä`Vm” BË`Ì H$: àË``: ?
	 (A)	 Vb²	 (B)	 V¥M²	 (C)	 ŠV	 (D)	 eV¥

	 85.	 “ {ZOñdmWm©Z² ” BË`Ì H$m {d^pŠV: ?
	 (A)	 fîR>r	 (B)	 {ÛVr`m	 (C)	 àW_m	 (D)	 V¥Vr`m

	 86.	 “^maVr`m g§ñH¥${VñVw gd©Wm {ej`{V &” Apñ_Z² dmŠ`o {deofUnX§ {H$_² ?
	 (A)	 g§ñH¥${V:	 (B)	 gd©Wm	 (C)	 ^maVr`m	 (D)	 {ej`{V

	 87.	 H$ñ` {gÕmÝVñ` AZwH$aUoZ N>mÌ: ñd`§ {H$_{n H$m`ª H¥$Ëdm AdJÀN>{V ?
	 (A)	 éMo: {gÕmÝVñ`			   (B)	 {H«$`merbVm`m: {gÕmÝVñ`
	 (C)	 g_dm`{gÕmÝVñ`			   (D)	 d¡`pŠVH${gÕmÝVñ`

	 88.	 gåàofUmYm[aVJ{V{dqY gånmX{`Vw§ H$ñ` `ÝÌñ` _hVr Cn`mo{JVm {dÚVo ?
	 (A)	 _mZ{MÌñ`	 (B)	 nwñVH$ñ`	 (C)	 í`m_\$bH$ñ`	 (D)	 g§JUH$`ÝÌñ`

	 89.	 _mhoûdagyÌofw AH²$-àË`mhmañ` dUm©: ^dpÝV -
	 (A)	 A B C F$ b¥	 (B)	 A C F$ b¥ B	 (C)	 A F$ C b¥ B	 (D)	 A b¥ C F$ B

	 90.	 “àmV:(5 : 45) dmXZo `moJmgZ§ H$amo{_” Apñ_Z² dmŠ`o aoIm{‘>V§ g_`§ g§ñH¥$Vo {bIV -
	 (A)	 nmXmoZ nÄMdmXZo 			   (B)	 gnmX-fS²>dmXZo
	 (C)	 gnmX nÄMdmXZo			   (D)	 nmXmoZ fS²>dmXZo
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III – 
II –  

 (CXÿ© )

	 	 .61

	 	 (D)	 	 (C)	 	 (B)	 	 (A)
	 	 .62

	 	 (D)	 	 (C)	 	 (B)	 	 (A)
	 	 .63

	 	 (A)
	 	 (B)
	 	 (C)
	 	 (D)

	 	 .64

	 	 (D)	 	 (C)	 	 (B)	 	 (A)
	 	 .65

	 	 (B)	 	 (A)	

	 	 (D)	 	 (C)

	 	 .66

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .67
	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	.68

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .69
	 	 (D)	 	 (C)	 	 (B)	 	 (A)
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7074

	 	 .70

	 	 (D)	 	 (C)	 	(B)	 	 (A)

	 	 .71
	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .72

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .73
	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .74

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .75
	 	 (B)	 	 (A)

	 	 (D)	 	 (C)	

	 	 .76
	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 .77

	 	 (D)	 	(C)	 	 (B)	 	 (A)
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	 	 .78

	 	 (D)	 	 (C)	 	 (B)	 	 (A)	
83 79

	 	 .79

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .80
	 	 (A)

	 	 (B)
	 	 (C)

	 	 (D)

	 	 .81

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .82

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 		 (53)	 D

RL-2

	 	 .83
	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .84

	 	 (A)
	 	 (B)
	 	 (C)
	 	 (D)

	 	 .85
	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 .86
	 	 (B)	 	 (A)	

	 	 (D)	 	 (C)

	 	 .87
	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .88

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .89

	 	 (D)	 	 (C)	 	 (B)	 	 (A)

	 	 .90

	 	 (A)

	 	 (B)
	 	 (C)
	 	 (D)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


D		 (54)	

RL-2

 – iiI 
 – II

30

	 61.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 62.	
	 (A)		  			   (B)	

	 (C)	 	 (D)	

	 63.	

	 (A)		  			   (B)	

	 (C)	 			   (D)	

	 64.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 65.	
	 i.	
	 ii.	
	 iii.	
	 iv.	
	 (A)		 i, ii, iii, iv	 (B)	 iii, i, iv, ii	 (C)	 iii, i, ii, iv	 (D)	 iv, iii, ii, i

	 66.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 67.	
	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 68.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	
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	 69.	

	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 70.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 71.	

	 (A)		  	 (B)	 	 (C)	 	 (D)	

72 76
.

	 72.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	
	 73.	
	 (A)		  	 (B)	
	 (C)	 	 (D)	

	 74.	
	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 75.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 76.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	
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	 77.	 70 79
	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 78.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 79.	
	 (A)		  			   (B)	
	 (C)	 	 (D)	

80 84

	 80.	

	 (A)		  			   (B)	

	 (C)	 			   (D)	

	 81.	

	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 82.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	
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	 83.	
	 (A)		  			   (B)	

	 (C)	 			   (D)	

	 84.	
	 (A)		  	 (B)	
	 (C)	 	 (D)	

	 85.	
	 (A)		  	 (B)	 	 (C)	 	 (D)	

	 86.	

	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 87.	
	 (A)		  			   (B)	
	 (C)	 			   (D)	

	 88.	
	 (A)		  	
	 (B)	
	 (C)	
	 (D)	

	 89.	
	 (A)		
	 (B)	
	 (C)	
	 (D)	

	 90.	

	 (A)		  			   (B)	

	 (C)	 			   (D)	
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 – iiI 
 – iI
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30

	 61.	
	 (A)	 		 (B)	
	 (C)	 			   (D)	

	 62.	
	 (A)	 		  (B)	
	 (C)	 	 (D)	

	 63 67

	 63.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 64.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 65.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 66.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 67.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	
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	 68.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 69.	
	 (A)	 	 (B)	
	 (C)	 	 (D)	

	 70.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	
	 71.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 72.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

73 76

	
	 73.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
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	 74.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 75.	
	 (A)	 		  (B)	
	 (C)	 		  (D)	

	 76.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 77.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 78.	
	 (A)	

	 (B)	
	 (C)	
	 (D)	

	 79.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 80.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 81.	
	 (A)	 		
	 (B)	
	 (C)	 	
	 (D)	

	 82.	

	 (A)	
	 (B)	
	 (C)	
	 (D)	

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 		 (61)	 D

RL-2

	 83.	

	 (A)	 			  (B)	
	 (C)	 			   (D)	

	 84.	

	 (A)	 			 
	 (B)	
	 (C)	
	 (D)	

	 85.	

	 (A)	 			   (B)	

	 (C)	 			   (D)	

	 86.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 87.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 88.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 89.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 90.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	
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 – iII 
 – II

       (JwOamVr)

30

	 61.	

	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 62.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 63.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 64.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 65.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 66.	
	 (A)	 	 (B)	
	 (C)	 	 (D)	

67 69

	 67.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
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	 68.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 69.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 70.	
	 (A)	 			  (B)	
	 (C)	 			   (D)	

	 71.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 72.	

	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 73.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 74.	
	 (A)	 		  (B)	
	 (C)	 			   (D)	

	 75.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

76 79

	 76.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
	 77.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	
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	 78.	
	 (A)	 	 (B)	
	 (C)	 			   (D)	
	 79.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 80.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 81.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 82.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 83.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 84.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 85.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 86.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 87.	
	 (A)	 	 (B)	
	 (C)	 	 (D)	

	 88.	
	 (A)	 			   (B)	
	 (C)	 			   (D)	

	 89.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

	 90.	
	 (A)	 	 (B)	 	 (C)	 	 (D)	

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 		 (65)	 D

RL-2

SECTION – IV/ IÊS> – IV
In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and IV(b) Social 
Studies. Both the sub-sections consist of 60 Multiple Choice Questions each. The candidate 
has to choose either IV(a) Mathematics and Science OR IV(b) Social Studies as selected in 
the Online Application Form and answer all the 60 questions.
Bg IÊS> _| Xmo CnIÊS> AWm©V² IV(a) J{UV Ed§ {dkmZ Ed§ IV(b) gm_m{OH$ AÜ``Z h¢ & XmoZm| CnIÊS>m| Ho$ 
àË`oH$ _| 60 ~hþ{dH$ënr` àíZ h¢ &
Aä`Wu H$mo IV(a) J{UV Ed§ {dkmZ AWdm IV(b) gm_m{OH$ AÜ``Z, {OZH$m M`Z Am°ZbmBZ AmdoXZ-nÌ 
_| {H$`m h¡, _| go {H$gr EH$ CnIÊS> H$mo MwZZm h¡ Ed§ g^r 60 àíZm| H$m CÎma XoZm h¡ &

SECTION – IV(a)/ IÊS> – IV(a)
MATHEMATICS and Science/ J{UV Ed§ {dkmZ

There are 60 questions in all in this section. The candidates who have selected this subject must 
answer all the questions.
Bg IÊS> _| Hw$b 60 àíZ h¢ & {OZ Aä`{W©̀ m| Zo Bg {df` H$m M`Z {H$`m h¡ CÝh| g^r àíZ H$aZm A{Zdm ©̀ h¡ &

	 91.	 If the ratio of supplementary and complementary angle of an angle is 5 : 2, then the value 
of the angle will be :

	 (A)	 20°	 (B)	 60°	 (C)	 30°	 (D)	 150°
		  `{X {H$gr H$moU Ho$ g§nyaH$ VWm nyaH$ H$moUm| H$m AZwnmV 5 : 2 hmo, Vmo H$moU H$m _mZ hmoJm :
	 (A)	 20°	 (B)	 60°	 (C)	 30°	 (D)	 150°

	 92.	 If the ratio of heights of two cylinders of equal volume is 1 : 3 then the ratio of their radii 
will be :

	 (A)	 1 : 3	 (B)	 3 :1	 (C)	 1: 2 	 (D)	 5 : 2

		  `{X Xmo ~am~a Am`VZ dmbo ~obZmo§ H$s D±$MmB`m| H$m AZwnmV 1 : 3 hmo, Vmo BZH$s {ÌÁ`mAm| H$m AZwnmV 
hmoJm :

	 (A)	 1 : 3	 (B)	 3 :1	 (C)	 1: 2 	 (D)	 5 : 2

	 93.	 “Mathematics is the study of abstract system built of abstract elements. These elements 
are not described in concrete fashion.” This statement is said by :

	 (A)	 Marshal H. Stone		  (B)	 Hogven
	 (C)	 I. K. Davis			   (D)	 B. S. Bloom
		  ""J{UV Eogr A_yV© ì`dñWm H$m AÜ``Z h¡ Omo {H$ A_yV© VÎdm| H$mo {_bH$a ~Zr h¡ & BZ 

VÎdm| H$mo _yV© ê$n _| n[a^m{fV {H$`m J`m h¡ &'' `h H$WZ {H$gZo H$hm ?
	 (A)	 _me©b EM. ñQ>moZ			   (B)	 hm°JdoZ
	 (C)	 AmB©. Ho$. S>o{dg			   (D)	 ~r. Eg. ãby_

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


D		 (66)	

RL-2

	 94.	 How many decimal parts of an hour is one second ?
	 (A)	 0.002561	 (B)	 0.000277	 (C)	 0.000123	 (D)	 0.002077
		  EH$ goH$ÊS>, EH$ K§Q>o H$m {H$VZo Xe_bd ^mJ h¡ ?
	 (A)	 0.002561	 (B)	 0.000277	 (C)	 0.000123	 (D)	 0.002077

	 95.	 If the side of a square is increased by 25%, its area will increase by :
	 (A)	 56.25%	 (B)	 66.25%	 (C)	 25%	 (D)	 125.25%
		  `{X {H$gr dJ© H$s ^wOm H$mo 25% ~‹T>m {X`m Om`, Vmo CgH$m joÌ\$b ~‹T> OmEJm :
	 (A)	 56.25%	 (B)	 66.25%	 (C)	 25%	 (D)	 125.25%

	 96.	 Which of the following statements does not reflect the nature of mathematics ?
	 (A)	 Knowledge in mathematics is clear and logical
	 (B)	 The rules, principles and formulas of mathematics are universal
	 (C)	 The field of generalization in mathematics is limited
	 (D)	 The language of mathematics is well defined
		  {ZåZ{b{IV _| go H$m¡Z-gm H$WZ J{UV H$s àH¥${V H$mo à{Vq~{~V Zht H$aVm h¡ ?
	 (A)	 J{UV _| kmZ ñnîQ> d Vm{H©$H$ hmoVm h¡
	 (B)	 J{UV Ho$ {Z`_, {gÕm§V d gyÌ gmd©^m¡{_H$ hmoVo h¢
	 (C)	 J{UV _| gm_mÝ`rH$aU H$m joÌ gr{_V hmoVm h¡
	 (D)	 J{UV H$s ^mfm gwn[a^m{fV hmoVr h¡

	 97.	 In how much time will the value of some money increase by 40% at the rate of 
5% annual simple interest ?

	 (A)	 5 year	 (B)	 6 year	 (C)	 10 year	 (D)	 8 year
		  {H$VZo g_` _| 5% dm{f©H$ gmYmaU ã`mO H$s Xa go {H$gr YZ Ho$ _mZ _| 40%  d¥{Õ hmoJr ?
	 (A)	 5 df©	 (B)	 6 df©	 (C)	 10 df©	 (D)	 8 df©

	 98.	 “Mathematics is the mirror of civilization and culture.” This statement corresponds 
to which value of mathematics ?

	 (A)	 Disciplinary values	 (B)	 International values
	 (C)	 Cultural values			   (D)	 Psychological values
		  ""J{UV gä`Vm Am¡a g§ñH¥${V H$m Xn©U h¡ &'' `h H$WZ J{UV Ho$ {H$g _yë` go gå~pÝYV h¡ ? 
	 (A)	 AZwemg{ZH$ _yë`			   (B)	 AÝVam©îQ´>r` _yë`
	 (C)	 gm§ñH¥${VH$ _yë`			   (D)	 _Zmod¡km{ZH$ _yë`

	 99.	 The situations presented by the teacher in the classroom to attract the attention 
of students towards a new topic are called :

	 (A)	 Prior knowledge			  (B)	 Home work
	 (C)	 Statement of aim			  (D)	 Introduction
		  ZE àH$aU Ho$ à{V {dÚm{W©`m| H$m Ü`mZ AmH${f©V H$aZo Ho$ {bE AÜ`mnH$ Ûmam H$jm H$j _| àñVwV 

H$s OmZo dmbr n[apñW{V`m| H$mo H$hVo h¢ :
	 (A)	 nyd© kmZ			   (B)	 J¥hH$m`©	
	 (C)	 CÔoí` H$WZ			   (D)	 àñVmdZm
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	 100.	 The value of (20 + 2–1 + 2–2) is :

	 (A)	
7
4

	 (B)	
4
7

	 (C)	 1
4

	 (D)	 3
4

		  (20 + 2–1 + 2–2) H$m _mZ h¡ :

	 (A)	
7
4

	 (B)	
4
7

	 (C)	 1
4

	 (D)	 3
4

	 101.	 If the surface area of a cube is 600 cm2, then the length of its diagonal will be :
	 (A)	 3 10  cm	 (B)	 10 3  cm	 (C)	 10 2  cm	 (D)	 10 cm
		  `{X {H$gr KZ H$m n¥îR>r` joÌ\$b 600 dJ© go_r h¡, Vmo CgHo$ {dH$U© H$s bå~mB© hmoJr :

	 (A)	 3 10  go_r	 (B)	 10 3  go_r	 (C)	 10 2  go_r	 (D)	 10 go_r

	 102.	 The student who performs simple mathematical operations without the help of 
paper and pencil is called :

	 (A)	 Written maths			   (B)	 Oral maths
	 (C)	 Geometry			   (D)	 Example

		  N>mÌ J{UV H$s gmYmaU {H«$`mAm| H$mo {~Zm H$mJO Am¡a nopÝgb H$s ghm`Vm go H$aVm h¡, H$hbmVm h¡ :
	 (A)	 {b{IV J{UV			   (B)	 _m¡{IH$ J{UV
	 (C)	 aoIm J{UV			   (D)	 CXmhaU

	 103.	 The difference between the maximum value and minimum value at data in a given group 
is called :

	 (A)	 Range	 (B)	 Mean	 (C)	 Frequency	 (D)	 Median

		  {H$gr {XE JE g_yh _| AmH$‹S>m| Ho$ _hÎm_ _mZ VWm Ý`yZV_ _mZ Ho$ AÝVa H$mo H$hVo h¢ :

	 (A)	 n[aga	 (B)	 _mÜ`	 (C)	 ~maå~maVm	 (D)	 _mpÜ`H$m

	 104.	 The sum of the largest and smallest fractions among the fractions 5
9

,
3
7

,
11
13

,
6

11
 

and 7
8

 is :

	 (A)	 1
5
8

	 (B)	 1
17
53

	 (C)	 1
17
56

	 (D)	 1
13
99

		  5
9

,
3
7

,
11
13

,
6

11
 Am¡a 7

8
 {^Þm| _| go g~go ~‹S>o Am¡a g~go N>moQ>o {^Þ H$m `moJ h¡ :

	 (A)	 1
5
8

	 (B)	 1
17
53

	 (C)	 1
17
56

	 (D)	 1
13
99
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	 105.	 The appropriate method for establishing formulas up to the middle stage in teaching 
mathematics is :

	 (A)	 Demonstration method	 (B)	 Deductive method
	 (C)	 Inductive method		  (D)	L ecture method

		  J{UV {ejU _| CÀM àmW{_H$ ñVa VH$ gyÌ ñWmnZm Ho$ {b`o Cn`wŠV {d{Y h¡ :
	 (A)	 àXe©Z {d{Y			   (B)	 {ZJ_Z {d{Y
	 (C)	 AmJ_Z {d{Y			   (D)	 ì`m»`mZ {d{Y

	 106.	 “Evaluation is judgement or interpretation that one draws from one information 
at hand about a pupil’s work.” This statement is said by :

	 (A)	 Clark and Starr			   (B)	 James M. Lee
	 (C)	 Quillen and Hanna		 (D)	 Stevenson

		  ""_yë`m§H$Z dh {ZU©` `m ì`m»`m h¡ {OgH$mo {H$gr N>mÌ Ho$ {df` _| àmßV gyMZmAm| Ho$ AmYma na {X`m 
OmVm h¡ &'' `h H$WZ {H$gZo H$hm ?

	 (A)	 ŠbmH©$ Ed§ ñQ>ma			   (B)	 Ooåg E_. br
	 (C)	 pŠdbZ d hÞm			   (D)	 ñQ>rdoÝgZ

	 107.	 The action verb, ‘Predict’ is related to which objective ?
	 (A)	 Analysis	 (B)	 Application	 (C)	 Knowledge	 (D)	 Creative
		  "nyd© H$WZ H$aZm', H$m`© gyMH$ {H«$`m {H$g CÔoí` go g§~§{YV h¡ ?
	 (A)	 {díbofU	 (B)	 kmZmon`moJ	 (C)	 kmZ	 (D)	 g¥OZmË_H$

	 108.	 If a test measures the purpose for which it has been designed, then it implies :
	 (A)	 Reliability	 (B)	 Validity	 (C)	 Objectivity	 (D)	 Discrimination

		  `{X EH$ narjU Cg CÔoí` H$m _mnZ H$ao {OgH$s ny{V© hoVw CgH$s aMZm H$s JB© h¡ Vmo Cg_| {Z{hV h¡ :
	 (A)	 {dídgZr`Vm	 (B)	 d¡YVm	 (C)	 dñVw{ZîR>Vm	 (D)	 {d^oXH$m[aVm

	 109.	 A factor of (x3 – 8) is :
	 (A)	 (x + 2)	 (B)	 (x2 + 2x + 4)	 (C)	 (x – 4)	 (D)	 (x2 – 2x + 4)
		  (x3 – 8) H$m EH$ JwUZIÊS> h¡ :
	 (A)	 (x + 2)	 (B)	 (x2 + 2x + 4)	 (C)	 (x – 4)	 (D)	 (x2 – 2x + 4)

	 110.	 After diagnostic testing, it is necessary for mentally retarded students to :
	 (A)	 General teaching			  (B)	 Question wise teaching
	 (C)	 Instructional teaching	 (D)	 Remedial teaching

		  {ZXmZmË_H$ narjU Ho$ ~mX, _ÝX ~w{Õ {dÚm{W©`m| hoVw Amdí`H$ h¡ :
	 (A)	 gm_mÝ` {ejU			   (B)	 àíZdma {ejU
	 (C)	 AZwXoeZmË_H$ {ejU		 (D)	 CnMmamË_H$ {ejU
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	 111.	 In a histogram, the heights of the rectangles belong to those classes :
	 (A)	 Inversely proportional to frequencies
	 (B)	 Proportional to frequencies
	 (C)	 Proportional to class-interval
	 (D)	 Inversely proportional to the class-interval
		  Am`V{MÌ _| Am`Vm| H$s D±$MmB`m± CZ dJm] H$s hmoVr h¢ :
	 (A)	 ~maå~maVmAm| Ho$ ì`wËH«$_mZwnmVr
	 (B)	 ~maå~maVmAm| Ho$ g_mZwnmVr
	 (C)	 dJ©-AÝVamb Ho$ g_mZwnmVr
	 (D)	 dJ©-AÝVamb Ho$ ì`wËH«$_mZwnmVr	

	 112.	 By giving 10% discount on an item there is a  profit of 20%. If this discount 
is 20%, then what will be the profit ?

	 (A)	 6
2
3

% 	 (B)	 3
1
2

% 	 (C)	 7
1
4

% 	 (D)	 12
1
2

%

		  {H$gr dñVw na 10% Ny>Q> XoZo go 20% bm^ hmoVm h¡, `h Ny>Q> 20% hmo, Vmo bm^ {H$VZm hmoJm ?

	 (A)	 6
2
3

% 	 (B)	 3
1
2

% 	 (C)	 7
1
4

% 	 (D)	 12
1
2

%

	 113.	 The point on x-axis is :
	 (A)	 (2, 3)	 (B)	 (2, 0)	 (C)	 (0, 2)	 (D)	 (2, 2)

		  x-Aj na {~ÝXþ h¢ :
	 (A)	 (2, 3)	 (B)	 (2, 0)	 (C)	 (0, 2)	 (D)	 (2, 2)

	 114.	 The value of 
7

875
3  is :

	 (A)	
1

15
	 (B)	

1
4

	 (C)	
1
7

 	 (D)	 1
5

		
7

875
3  H$m _mZ h¡ :

	 (A)	
1

15
	 (B)	

1
4

	 (C)	
1
7

	 (D)	 1
5

	 115.	 A parallelogram and a triangle are equal in area and lie on the same base. If 
the height of the parallelogram is 2 cm, then the height of the triangle is :

	 (A)	 1 cm	 (B)	 2 cm	 (C)	 3 cm	 (D)	 4 cm
		  EH$ g_m§Va MVw^w©O Am¡a {Ì^wO joÌ\$b _| g_mZ h¢ Am¡a EH$ hr AmYma na pñWV h¢ & `{X g_m§Va 

MVw^w©O H$s D±$MmB© 2 g|Q>r_rQ>a hmo, Vmo {Ì^wO H$s D±$MmB© h¡ :

	 (A)	 1 go_r	 (B)	 2 go_r	 (C)	 3 go_r	 (D)	 4 go_r
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	 116.	 The ratio of female and male employees in a factory is 3 : 5. If the number of females 
is 40 less than the number of male, then how many total employees are there in the 
factory ?

	 (A)	 60	 (B)	 160	 (C)	 100	 (D)	 200
	 	 EH$ H$maImZo _| ór VWm nwéf H$_©Mmar`m| H$m AZwnmV 3 : 5 h¡ `{X {ó`m| H$s g§»`m nwéfm| H$s 

g§»`m go 40 H$_ hmo, Vmo H$maImZo _| Hw$b {H$VZo H$_©Mmar h¡ ?
	 (A)	 60	 (B)	 160	 (C)	 100	 (D)	 200

	 117.	 P(E) + P(E)  equals :
	 (A)	 0	 (B)	 2	 (C)	 1	 (D)	 3

		  P(E) + P(E)  ~am~a h¡ :
	 (A)	 0	 (B)	 2	 (C)	 1	 (D)	 3

	 118.	 In the given figure, if ∠ ∠x -- y = 10°, then the value of ∠x will be :

		  Q

P

R
y

x

120°

	 (A)	 55°	 (B)	 65°	 (C)	 70°	 (D)	 100°
		  Xr J`r AmH¥${V _| `{X ∠ ∠x -- y = 10° hmo, Vmo ∠x H$m _mZ hmoJm :

		  Q

P

R
y

x

120°

	 (A)	 55°	 (B)	 65°	 (C)	 70°	 (D)	 100°

	 119.	 The largest five-digit perfect square number is :
	 (A)	 10000	 (B)	 99586	 (C)	 99999	 (D)	 99856
		  nm±M A§H$m| H$s g~go ~‹S>r nyU© dJ© g§»`m h¡ :
	 (A)	 10000	 (B)	 99586	 (C)	 99999	 (D)	 99856

	 120.	 The area of an equilateral triangle of side 3 cm will be :

	 (A)	
9 3

4
cm2	 (B)	 6 2

4
 cm2	 (C)	 3 3

4
 cm2	 (D)	 6 2

5
 cm2

		  3 g|Q>r_rQ>a ^wOm dmbo g_~mhþ {Ì^wO H$m joÌ\$b hmoJm :

	 (A)	
9 3

4
go_r2	 (B)	 6 2

4
 go_r2	 (C)	 3 3

4
 go_r2	 (D)	 6 2

5
 go_r2
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	 121.	 Which of the following is not a characteristic of a good evaluation ?
	 (A)	 Validity	 (B)	 Continuity	 (C)	 Reliability	 (D)	 Narrow mindedness

		  {ZåZm§{H$V _| go H$m¡Z-gr EH$ AÀN>o _yë`m§H$Z H$s {deofVm Zht h¡ ?
	 (A)	 d¡YVm	 (B)	 {ZaÝVaVm	 (C)	 {dídgZr`Vm	 (D)	 g§H$sU©Vm

	 122.	 The acid found in nettle’s sting is 
	 (A)	 Lactic acid	 (B)	 Citric acid	 (C)	 Methanoic acid	 (D)	 Tartaric acid

		  ZoQ>b Ho$ S>§H$ _| nm`m OmZo dmbm Aåb h¡ 
	 (A)	 b¡pŠQ>H$ Aåb	 (B)	 {g{Q´>H$ Aåb	 (C)	 _oWoZm°BH$ Aåb	 (D)	 Q>mQ>©[aH$ Aåb

	 123.	 The best way to control global warming is
	 (A)	 By increasing use of fossil fuel
	 (B)	 By reducing the emission of greenhouse gases
	 (C)	 By increasing deforestation
	 (D)	 By reducing plantation

		  {dídì`mnr CîUVm H$mo {Z`§{ÌV H$aZo H$m g~go AÀN>m Cnm` h¡
	 (A)	 Ordmí_ BªYZ Ho$ à`moJ H$mo ~‹T>mH$a
	 (B)	 J«rZhmCg J¡gm| Ho$ CËgO©Z H$mo H$_ H$aHo$
	 (C)	 dZmoÝ_ybZ H$mo ~‹T>mH$a
	 (D)	 d¥jmamonU H$mo H$_ H$aHo$

	 124.	 Disease caused by deficiency of Vitamin – C (Ascorbic acid) is
	 (A)	 Rickets	 (B)	 Scurvy	 (C)	 Beri-Beri	 (D)	 Night-blindness

		  {dQ>m{_Z-gr (EñH$m°{~©H$ Aåb) H$s H$_r go hmoZo dmbm amoJ h¡
	 (A)	 [aHo$Q²>g	 (B)	 ñH$du	 (C)	 ~oar-~oar	 (D)	 aVm¢Yr

	 125.	 Pitch of a given sound depends upon
	 (A)	 Wavelength	 (B)	 Frequency	 (C)	 Amplitude	 (D)	 Intensity

		  {H$gr Üd{Z H$m VmaËd {Z^©a H$aVm h¡
	 (A)	 Va§JX¡¿`© na	 (B)	 Amd¥{Îm na	 (C)	 Am`m_ na	 (D)	 Vrd«Vm na

	 126.	 Which of the following scale is used for the measurement of magnitude of the power 

of an earthquake ?

	 (A)	 Kelvin scale	 (B)	 Decibel scale	 (C)	 Pascal scale	 (D)	 Richter scale

		  {ZåZ{b{IV _| go H$m¡Z-gm n¡_mZm ^yH$ån H$s epŠV Ho$ n[a_mU H$mo _mnZo Ho$ {bE à`wŠV hmoVm h¡ ?
	 (A)	 Ho$pëdZ n¡_mZm	 (B)	 S>ogr~b n¡_mZm	 (C)	 nmñH$b n¡_mZm	 (D)	 [aŠQ>a n¡_mZm
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	 127.	 Mode of reproduction in Leishmania is

	 (A)	 Budding		  	 (B)	 Regeneration

	 (C)	 Binary fission			   (D)	 Multiple fission

		  boñ_m{Z`m _| àOZZ H$s {d{Y h¡
	 (A)	 _wHw$bZ			   (B)	 nwZê$Õ^dZ
	 (C)	 {ÛI§S>Z			   (D)	 ~hþI§S>Z

	 128.	 Example of pulses crop is

	 (A)	 Wheat	 (B)	 Sugarcane	 (C)	 Sorghum	 (D)	 Groundnut

		  XbhZr \$gb H$m CXmhaU h¡
	 (A)	 Johÿ±	 (B)	 JÝZm	 (C)	 Ádma	 (D)	 _y±J\$br

	 129.	 How many decibel (dB) is safe noise level fixed by the World Health 
Organisation for a city ?

	 (A)	 140 dB	 (B)	 90 dB	 (C)	 65 dB	 (D)	 45 dB

		  {díd ñdmñÏ` g§JR>Z (WHO) Zo EH$ eha Ho$ {bE {H$VZo S>ogr~b (dB) H$mo gwa{jV emoa 
ñVa V` {H$`m h¡ ?

	 (A)	 140 dB	 (B)	 90 dB	 (C)	 65 dB	 (D)	 45 dB

	 130.	 The fuel having lowest calorific value in kJ/kg unit is

	 (A)	 Coal	 (B)	 Petrol	 (C)	 LPG	 (D)	 Hydrogen

		  kJ/kg BH$mB© _| Ý`yZV_ D$î_r` _mZ dmbm BªYZ h¡ 
	 (A)	 H$mo`bm	 (B)	 n¡Q´>mob	 (C)	 EbnrOr	 (D)	 hmBS´>moOZ

	 131.	 Which was first described nucleus as a cell organelle ?

	 (A)	L eeuwen hoek			   (B)	 Robert hooke

	 (C)	 Robert brown			   (D)	 Camilio Golgi

		  H$mo{eH$s` A§JH$ H|$ÐH$ H$s ImoO gd©àW_ {H$gZo H$s Wr ?
	 (A)	 ë`ydoZ hm°H$			   (B)	 am~Q>© hþH$
	 (C)	 am~Q>© ~«mCZ			   (D)	 Ho$_rbmo Jm°ëOr
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	 132.	 Secretion of which gland also helps in lubrication of penis in man ?
	 (A)	 Pineal gland			   (B)	 Thymus gland
	 (C)	 Adrenal gland			   (D)	 Bulbourethral gland

		  nwéf _| H$m¡Z-gr J«§{W H$m g«md {eíZ _| ñZohH$ àXmZ H$aZo _| ^r ghm`H$ hmoVm h¡ ?
	 (A)	 {n{Z`b J«§{W			   (B)	 WmB_g J«§{W
	 (C)	 A{Yd¥ŠH$ J«§{W			   (D)	 ~ë~mo`yaoW«b J«§{W

	 133.	 A man is standing 6 metre away from a plane mirror. The distance between 
the man and its image in metre will be :

	 (A)	 12	 (B)	 3	 (C)	 6	 (D)	 7.5

		  EH$ ì`pŠV g_Vb Xn©U go 6 _rQ>a Xÿa I‹S>m h¡ & ì`pŠV VWm CgHo$ à{V{~å~ Ho$ ~rM Xÿar _rQ>a _| 
hmoJr :

	 (A)	 12	 (B)	 3	 (C)	 6	 (D)	 7.5

	 134.	 The main feature of objective test is

	 (A)	 Not possible in all subjects	 (B)	 Disregard for original thinking

	 (C)	 The effect of  estimation	 (D)	 High level of reliability and validity

		  dñVw{ZîR> narjU H$m _w»` JwU h¡
	 (A)	 g^r {df`m| _| gå^d Zht	 (B)	 _m¡{bH$ {MÝVZ H$s AdhobZm
	 (C)	 AZw_mZ H$m à^md			   (D)	 {dœgZr`Vm Am¡a d¡YVm H$m CÀM ñVa

	 135.	 When the glass rod is rubbed with the silk cloth, then glass rod will become

	 (A)	 Electrically neutral	 (B)	 Positively charged

	 (C)	 Negatively charged	 (D)	 None of the above

		  O~ H$m±M H$s N>‹S> H$mo aoe_ Ho$ H$n‹S>o go aJ‹S>Vo h¢, Vmo H$m±M H$s N>‹S> ~Z OmEJr 
	 (A)	 {dÚwV CXmgrZ			   (B)	 YZmdo{eV
	 (C)	 F$Umdo{eV			   (D)	 CnamoŠV _| go H$moB© Zht

	 136.	 In which year the central government made the “Biodiversity Act” ?

	 (A)	 2000	 (B)	 2002	 (C)	 2012	 (D)	 2022

		  Ho$ÝÐ gaH$ma Ûmam {H$g gZ² _| ""O¡d{d{dYVm EŠQ>'' ~Zm`m Wm ?

	 (A)	 2000	 (B)	 2002	 (C)	 2012	 (D)	 2022
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	 137.	 A Force (F) is acting on an area (A), if the force is halved and area is doubled then 
how much will be the pressure to the initial pressure ?

	 (A)	 Four times	 (B)	 One forth	 (C)	 Half	 (D)	 Double

		  EH$ ~b (F) {H$gr joÌ\$b  (A) na bJ ahm h¡, `{X ~b H$mo AmYm VWm joÌ\$b H$mo XþJwZm H$a X|,  
Vmo Xm~ àmapå^H$ Xm~ H$m hmoJm :

	 (A)	 Mma JwZm	 (B)	 EH$Mm¡WmB©	 (C)	 AmYm	 (D)	 XþJwZm

	 138.	 Which is the main national park situated in West Bengal ?
	 (A)	 Sundarban National Park	 (B)	 Gir National Park
	 (C)	 Kajiranga National Park	 (D)	 Bandipur National Park

		  npíM_ ~§Jmb _| pñWV à_wI amîQ´>r` CÚmZ H$m¡Z-gm h¡ ?
	 (A)	 gwÝXa~Z amîQ´>r` CÚmZ		 (B)	 {Ja amîQ´>r` CÚmZ
	 (C)	 H$mOra§Jm amîQ´>r` CÚmZ	 (D)	 ~m§Xrnwa amîQ´>r` CÚmZ

	 139.	 Match the following :
	 1.	 Elephantiasis	 a.	 Rhino virus
	 2.	 Amoebiasis	 b.	 Haemophillus influenzae
	 3.	 Pneumonia	 c.	 W. Bancrofti
	 4.	 Common cold	 d.	 A. Histolytica
	 1	 2	 3	 4
	 (A)	 d	 c	 a	 b
	 (B)	 c	 d	 b	 a
	 (C)	 a	 b	 c	 d
	 (D)	 b	 a	 d	 c

		  {ZåZ{b{IV H$m ghr {_bmZ H$s{OE :

	 1.	 hpñVnmX	 a.	 amBZmodm`ag
	 2.	 A_r~`Vm	 b.	 hr_mo{\$ëg B§âbwE±Or

	 3.	 Ý`y_mo{Z`m	 c.	 ~w. ~¢H«$mo\$Q>mB©
	 4.	 gm_mÝ` OwH$m_	 d.	 E. {hñQ>mo{b{Q>H$m
	 1	 2	 3	 4
	 (A)	 d	 c	 a	 b
	 (B)	 c	 d	 b	 a
	 (C)	 a	 b	 c	 d
	 (D)	 b	 a	 d	 c
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	 140.	 The variety of Brassica, resistance to “White rust” disease is
	 (A)	 Pusa Komal			   (B)	 Pusa Shubhra
	 (C)	 Pusa Sadabahar			   (D)	 Pusa Swarnim

		  gagm| _| ""ídoV {H$Q²>Q'' amoJ Ho$ à{V à{VamoYH$ {H$ñ_ h¡
	 (A)	 nygm H$mo_b			   (B)	 nygm ew^«m
	 (C)	 nygm gXm~hma			   (D)	 nygm ñd{U©_

	 141.	 Which of the following compound is not a member of alkene homologous series ?
	 (A)	 C5H10	 (B)	 C4H8	 (C)	 C3H6	 (D)	 C2H2

		  {ZåZ{b{IV _| go H$m¡Z-gm `m¡{JH$ EoëH$sZ g_OmVr` loUr H$m gXñ` Zht h¡ ?
	 (A)	 C5H10	 (B)	 C4H8	 (C)	 C3H6	 (D)	 C2H2

	 142.	 Inductive method is based on the following teaching maxims 
	 (A)	 From rule to example	 (B)	 From known to unknown
	 (C)	 From general to specific	 (D)	 From evidence to direct

		  AmJ_Z {d{Y {ZåZ{b{IV {ejU gyÌ na AmYm[aV h¡ 
	 (A)	 {Z`_ go CXmhaU H$s Amoa	 (B)	 kmV go AkmV H$s Amoa
	 (C)	 gm_mÝ` go {d{eîQ> H$s Amoa	 (D)	 à_mU go àË`j H$s Amoa

	 143.	 The motion of an object is said to be uniform circular motion, if the object
	 (A)	 Moves on a circular path with variable speed
	 (B)	 Moves on a circular path with constant acceleration
	 (C)	 Moves on a circular path with constant speed
	 (D)	 Moves on a circular path with constant velocity
		  {H$gr dñVw H$s J{V H$mo EH$ g_mZ d¥Îmr` J{V H$hm OmVm h¡, `{X dñVw
	 (A)	 d¥Îmr` nW na n[adVu Mmb go MbVr h¡ 
	 (B)	 d¥Îmr` nW na EH$ g_mZ ËdaU go MbVr h¡ 
	 (C)	 d¥Îmr` nW na EH$ g_mZ Mmb go MbVr h¡ 
	 (D)	 d¥Îmr` nW na EH$ g_mZ doJ go MbVr h¡

	 144.	 Which of the following is not an example of homogeneous mixture ?

	 (A)	 Sulphur in carbon disulphide	 (B)	 Sugar in water
	 (C)	 Ethanol in water			  (D)	 Oil in water

		  {ZåZ{b{IV _| go H$m¡Z-gm g_m§Jr {_lU H$m CXmhaU Zht h¡ ?
	 (A)	 H$m~©Z S>mBgë\$mBS> _| gë\$a	 (B)	 Ob _| eŠH$a
	 (C)	 Ob _| EWoZm°b			   (D)	 Ob _| Vob
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	 145.	 Which is not an example of sexually transmitted disease ?
	 (A)	 Gonorrhoea			   (B)	 Syphilis
	 (C)	 Genital harpes			   (D)	 T. B.
		  H$m¡Z-gm `m¡Z g§Mm[aV amoJ H$m CXmhaU Zht h¡ ?
	 (A)	 JmoZmo[a`m			   (B)	 {g{\${bg
	 (C)	 OZ{ZH$ n[agn©			   (D)	 Q>r. ~r.

	 146.	 Founder of the heuristic method of biology teaching
	 (A)	 H. E. Armstrong			  (B)	 John Dewey
	 (C)	 William Kilpatrick		 (D)	 C. V. Good

		  Ord {dkmZ {ejU H$s AÝdofU {d{Y Ho$ OÝ_XmVm Wo

	 (A)	 EM. B©. Am_©ñQ´>±mJ			   (B)	 Om°Z S>rdr
	 (C)	 {d{b`_ {H$bn¡{Q´>H$			  (D)	 gr. dr. JwS>

	 147.	 At the time of short circuit, the current in the circuit
	 (A)	 Reduces substantially	 (B)	 Varies continuously
	 (C)	 Increases heavily			  (D)	 Does not change
		  bKwnWZ Ho$ g_` n[anW _| Ymam
	 (A)	 n`m©ßV H$_r hmoVr h¡			  (B)	 {Za§Va n[ad{V©V hmoVr h¡
	 (C)	 ~hþV A{YH$ ~‹T> OmVr h¡	 (D)	 n[ad{V©V Zht hmoVr h¡

	 148.	 An example of biodegradable waste is
	 (A)	 Plastic	 (B)	 Metal	 (C)	 Glass	 (D)	 Cotton
		  O¡d-{ZåZrH$aUr` An{eîQ> H$m CXmhaU h¡
	 (A)	 ßbmpñQ>H$	 (B)	 YmVw	 (C)	 H$m±M	 (D)	 ê$B©

	 149.	 Two forces of 5 N and 3 N are acting on the same object in opposite directions, 
the resultant force on the object will be

	 (A)	 15 N	 (B)	 8 N	 (C)	 0.6 N	 (D)	 2 N
		  5 N Ed§ 3 N Ho$ Xmo ~b EH$ hr dñVw na {dnarV {Xem _| H$m`©aV h¢, Vmo dñVw na n[aUm_r ~b hmoJm 
	 (A)	 15 N	 (B)	 8 N	 (C)	 0.6 N	 (D)	 2 N

	 150.	 Chemical formula of aluminium oxide is 
	 (A)	 AlO2	 (B)	 AlO3	 (C)	 Al2O3	 (D)	 Al3O2
		  Ebw{_{Z`_ Am°ŠgmBS> H$m amgm`{ZH$> gyÌ h¡ 
	 (A)	 AlO2	 (B)	 AlO3	 (C)	 Al2O3	 (D)	 Al3O2
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SECTION – IV(b)/ IÊS> – IV(b)
Social Studies/ gm_m{OH$ AÜ``Z

There are 60 questions in all in this section. The candidates who have selected this subject 
must answer all the questions.

Bg IÊS> _| Hw$b 60 àíZ h¢ & {OZ Aä`m{W©`m| Zo Bg {df` H$m M`Z {H$`m h¡ CÝh| g^r àíZ H$aZm 
A{Zdm`© h¢ &

	 91.	 Who founded the ‘Indian Home Rule League’ in April 1916 ?
	 (A)	 Mahatma Gandhi		  (B)	 Sir Aga Khan
	 (C)	 Aurobindo Ghosh		  (D)	 Bal Gangadhar Tilak
		  ‘^maVr` hmo_ ê$b brJ’ H$s ñWmnZm Aà¡b 1916 _| {H$gZo H$s Wr ?
	 (A)	 _hmË_m Jm±Yr			   (B)	 ga AmJm Im±
	 (C)	 Aa{dÝX Kmof			   (D)	 ~mb J§JmYa {VbH$

	 92.	 Match the following shifting agriculture and their region :
	 	 Shifting agriculture		      Region
	 (1)	 Bewar	 (a)	 Madhya Pradesh
	 (2)	 Podu	 (b)	 Andhra Pradesh
	 (3)	 Kumari	 (c)	 Western Ghats
	 (4)	 Valre	 (d)	 South Eastern Rajasthan
	 	 (1)	 (2)	 (3)	 (4)
	 (A)	 (a)	 (d)	 (c)	 (b)
	 (B)	 (a)	 (b)	 (c)	 (d)
	 (C)	 (d)	 (c)	 (b)	 (a)
	 (D)	 (c)	 (a)	 (b)	 (d)
		  {ZåZ{b{IV ñWmZmÝV[aV H¥${f d CZHo$ joÌ H$mo gw_o{bV H$s{OE :
	 	 ñWmZmÝV[aV H¥${f		      joÌ
	 (1)	 ~oda	 (a)	 _Ü` àXoe
	 (2)	 nmoSy>	 (b)	 Am§Y« àXoe
	 (3)	 Hw$_mar	 (c)	 npíM_r KmQ>
	 (4)	 dmbao	 (d)	 X{jUr-nydu amOñWmZ
	 	 (1)	 (2)	 (3)	 (4)
	 (A)	 (a)	 (d)	 (c)	 (b)
	 (B)	 (a)	 (b)	 (c)	 (d)
	 (C)	 (d)	 (c)	 (b)	 (a)
	 (D)	 (c)	 (a)	 (b)	 (d)
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	 93.	 Why should local knowledge be incorporated into the social science curriculum ? 

	 (A)	 To encourage memorization of local facts and figures for exams

	 (B)	 To focus exclusively on the traditions of a specific community

	 (C)	 To relate the curriculum to students real world environment and make learning 
meaningful

	 (D)	 To replace text books entirely with community based discussions

		  ñWmZr` kmZ H$mo gm_m{OH$ {dkmZ nmR²>`M`m© _| Š`m| em{_b {H$`m OmZm Mm{hE ? 

	 (A)	 narjmAm| Ho$ {bE ñWmZr` VÏ`m| Am¡a Am§H$‹S>m| H$mo `mX H$aZo Ho$ {bE àmoËgm{hV H$aZo Ho$ {bE

	 (B)	 Ho$db EH$ {deof g_wXm` H$mo na§namAmo§ na Ü`mZ Ho$pÝÐV H$aZo Ho$ {bE

	 (C)	 nmR²>̀ M`m© H$mo N>mÌm| Ho$ dmñV{dH$ OrdZ Ho$ n[adoe go Omo‹S>Zo Am¡a grIZo H$mo gmW©H$ ~ZmZo Ho$ {bE

	 (D)	 nmR²>`nwñVH$mo§ H$mo nyar Vah go gm_wXm{`H$ MMm© _| ~XbZo Ho$ {bE 

	 94.	 Which of the following theory is not related to Buddhism ?

	 (A)	 Atheism	 (B)	 Spiritism	 (C)	 Karmvaad	 (D)	 Reincarnationism

		  AYmo{b{IV _| go H$m¡Z-gm {gÕmÝV ~m¡Õ Y_© go g§~§{YV Zht h¡ ?

	 (A)	 AZrídadmX	 (B)	 AmË_dmX	 (C)	 H$_©dmX	 (D)	 nwZO©Ý_dmX

	 95.	 What are the two major types of rubrics ? 

	 (A)	 Objective and subjective rubrics	 (B)	 Summative and formative rubrics

	 (C)	 Holistic and analytic rubrics	 (D)	 Diagnostic and evaluative rubrics

		  ê${~«Šg Ho$ Xmo _w»` àH$ma H$m¡Z-go h¡ ? 

	 (A)	 CÔoí`naH$ Am¡a ì`pŠVnaH$ ê${~«Šg	 (B)	 `moJmË_H$ Am¡a aMZmË_H$ ê${~«Šg

	 (C)	 g_J« Am¡a {díbofUmË_H$ ê${~«Šg	 (D)	 {ZXmZmË_H$ Am¡a _yë`m§H$ZmË_H$ ê${~«Šg

	 96.	 What was the main content of ‘Zij-e-Shahjahani’ ?

	 (A)	 Anatomy	 (B)	 Painting	 (C)	 Astronomy	 (D)	 Arithmetic

		  ‘{OM-E-emhOhmZr ’ H$s _w»` {df`dñVw Š`m Wr ?

	 (A)	 eara aMZm 	 (B)	 {MÌH$bm	 (C)	 IJmob emñÌ	 (D)	 A§H$J{UV
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	 97.	 Which of the following statements is not correct ?
	 (A)	 Ursa major or Big Bear is a constellation.
	 (B)	 Very Big and hot celestial bodies made up of gases, having own heat and light, 

are called stars.
	 (C)	 Jupiter, Saturn, Uranus, Neptune are inner planets.
	 (D)	 The shape of Earth is called ‘Geoid’.
		  {ZåZ{b{IV _| go H$m¡Z-gm H$WZ gË` Zht h¡ ?
	 (A)	 Agm© _oOa `m {~J ~r`a EH$ ZjÌ_§S>b h¡ &
	 (B)	 ~‹S>o AmH$ma dmbo J_© IJmobr` qnS> Omo J¡gm| go ~Zo hmoVo h¢, ñd`§ H$s D$Om© d àH$me aIVo h¢, 

do Vmao H$hbmVo h¢ &
	 (C)	 ~¥hñn{V, e{Z, `yaoZg, ZoßÀ`yZ Am§V[aH$ J«h h¢ &
	 (D)	 n¥Ïdr Ho$ AmH$ma H$mo "^y Am_' H$hm OmVm h¡ &

	 98.	 The correct sequence of physiographic features from North to South is
	 (A)	 Vindhya range – Satpura range – Mahadeo hills
	 (B)	 Satpura range – Vindhya range – Mahadeo hills
	 (C)	 Mahadeo hills – Satpura range –  Vindhya range
	 (D)	 Mahadeo hills – Vindhya range – Satpura range
		  Xr JB© ^y-AmH¥${V`m| H$m CÎma go X{jU {Xem _| ghr H«$_ h¡ 
	 (A)	 qdÜ`m loUr – gVnw‹S>m loUr – _hmXod nhm{S>`m±
	 (B)	 gVnw‹S>m loUr – qdÜ`m loUr – _hmXod nhm{S>`m±
	 (C)	 _hmXod nhm{S>`m± – gVnw‹S>m loUr – qdÜ`m loUr
	 (D)	 _hmXod nhm{S>`m± – qdÜ`m loUr – gVnw‹S>m loUr

	 99.	 Which Guhil ruler has been compared by historian C. V. Vaidya with French 
Commander Charles Martel ?

	 (A)	 Bappa Rawal			   (B)	 Maharana Kumbha
	 (C)	 Rana Hammir			   (D)	 Rana Sanga
		  B{VhmgH$ma gr. dr. d¡Ú Zo {H$g Jw{hb emgH$ H$s VwbZm \«$m§grgr goZmn{V Mmëg© _m°Q>}b 

go H$s h¡ ?
	 (A)	 ~ßnm amdb			   (B)	 _hmamUm Hw$å^m
	 (C)	 amUm hå_ra			   (D)	 amUm gm§Jm

	 100.	 Which of the following buildings is not located in the Chittor Fort ?
	 (A)	 Bhamashah’s Haveli	 (B)	 Sringar Chanvri Palace
	 (C)	 Navlakha Bhandar		 (D)	 Supari Mahal
		  {ZåZ _| go H$m¡Z-gm ^dZ {MVm¡‹S> Ho$ {H$bo _| AdpñWV Zht h¡ ?
	 (A)	 ^m_memh H$s hdobr			  (B)	 ûm¥§Jma M§dar àmgmX
	 (C)	 ZdbIm ^ÊS>ma			   (D)	 gwnmar _hb
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	 101.	 Match the List – I with List – II :
	 List – I	 List – II
	 Archaeological Site	 Structure
	 1.	 Banawali			   i.	 Traces of canals
	 2.	 Kalibanga			   ii.	 Terracotta models of the plough
	 3.	 Shortughai			   iii.	 Ploughed field
	 4.	 Dholavira			   iv.	 Use of reservoirs
		  Select the correct answer using the code given below :
		  1	 2	 3	 4
	 (A)	 i		 ii	 iii	 iv
	 (B)	 iv	 iii	 ii	 i
	 (C)	 ii	 iii	 iv	 i
	 (D)	 ii	 iii	 i	 iv
		  gyMr - I H$mo gyMr - II go gw_o{bV H$s{O`o :
	 gyMr - I	 gyMr  – II
	 nwamVmpÎdH$ ñWb	 g§aMZm
	 1.	 ~Zmdbr			   i. 	Zham| Ho$ Adeof
	 2.	 H$mbr~§Jm			   ii. 	{_Å>r go ~Zo hb Ho$ à{Vê$n
	 3.	 emoVw©KB©			   iii. 	OwVo hþE IoV
	 4.	 Ym¡bmdram			   iv. 	Obme`m| H$m à`moJ
	          ZrMo {X`o J`o Hy$Q> H$m à`moJ H$aHo$ ghr CÎma H$m M`Z H$s{OE :
		  1	 2	 3	 4
	 (A)	 i		 ii	 iii	 iv
	 (B)	 iv	 iii	 ii	 i
	 (C)	 ii	 iii	 iv	 i
	 (D)	 ii	 iii	 i	 iv

	 102.	 Which of the following is an example of a cultural resource in the community ? 
	 (A)	 Hills and Valleys
	 (B)	 Art theatres, museums and radio stations
	 (C)	 Police stations and Municipal offices
	 (D)	 Mines and factories
		  {ZåZ{b{IV _| go H$m¡Z-gm gm_wXm{`H$ g§gmYZ Ho$ ê$n _| gm§ñH¥${VH$ g§gmYZ H$m CXmhaU h¡ ?
	 (A)	 nhm{‹S>`m± Am¡a Km{Q>`m±
	 (B)	 H$bm _§M, g§J«hmb` Am¡a ao{S>`mo ñQ>oeZ
	 (C)	 nw{bg ñQ>oeZ Am¡a ZJa {ZJ_ H$m`m©b`
	 (D)	 IXmZ| Am¡a H$maImZ| 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 		 (81)	 D

RL-2

	 103.	 Which Prajamandal was associated with Sagarmal Gopa ?
	 (A)	 Bharatpur	 (B)	 Udaipur	 (C)	 Jaipur	 (D)	 Jaisalmer

		  {H$g àOm_ÊS>b H$m gå~§Y gmJa_b Jmonm go Wm ?
	 (A)	 ^aVnwa	 (B)	 CX`nwa	 (C)	 O`nwa	 (D)	 O¡gb_oa

	 104.	 In which article of the Indian Constitution, the fundamental duties are 
described ?

	 (A)	 50 A	 (B)	 51 A	 (C)	 52 A	 (D)	 53 A

		  ^maV Ho$ g§{dYmZ _| _yb H$Îm©ì`m| H$m dU©Z {H$g AZwÀN>oX _| h¡ ?
	 (A)	 50 H	 (B)	 51 H	 (C)	 52 H	 (D)	 53 H

	 105.	 Who was the 23rd Tirthankara of Jainism ?
	 (A)	 Rishabhdev			   (B)	 Parshvanath
	 (C)	 Neminath			   (D)	 Mahavira Swami

		  O¡Z Y_© Ho$ 23 do| VrWªH$a H$m¡Z Wo ?
	 (A)	 F$f^Xod			   (B)	 nmíd©ZmW
	 (C)	 Zo_rZmW			   (D)	 _hmdra ñdm_r

	 106.	 The Parliament passed the ‘Indian Post Office (Amendment) Bill’ and presented 
to which President for signature ?

	 (A)	 Gyani Zail Singh			  (B)	 Neelam Sanjeeva Reddy
	 (C)	 Dr. Shankar Dayal Sharma	 (D)	 V.  V. Giri

		  g§gX Zo "^maVr` nmoñQ> Am°{\$g (g§emoYZ) {dYo`H$' nm[aV H$a {H$g amîQ´>n{V Ho$ gå_wI 
hñVmja hoVw àñVwV {H$`m ?

	 (A)	 kmZr Oob qgh			   (B)	 Zrb_ g§Ord aoÈ>r
	 (C)	 S>m°. e§H$a X`mb e_m©		 (D)	 dr. dr. {Jar

	 107.	 With whom were Masru, Mir-e-Badla and Naurangshahi related ?
	 (A)	 Name of utensils			  (B)	 Many types of clothes for women’s
	 (C)	 Types of jewellery		 (D)	 Types of musical ragas

		  _gé, _ra-E-~mXbm Am¡a Zm¡a§Jemhr H$m gå~§Y {H$g go ahm h¡ ?
	 (A)	 ~V©Zm| Ho$ Zm_			   (B)	 _{hbmAm| Ho$ {bE H$B© àH$ma Ho$ H$n‹S>o
	 (C)	 Am^yfUm| Ho$ àH$ma			   (D)	 g§JrV amJm| Ho$ àH$ma
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	 108.	 El – Nino generally originates in the month of
	 (A)	 December	 (B)	 March	 (C)	 May	 (D)	 September
		  Eb-ZrZmo H$m OÝ_ gm_mÝ`V: ____________ _mh _| hmoVm h¡ &
	 (A)	 {Xgå~a _|	 (B)	 _mM© _|	 (C)	 _B© _|	 (D)	 {gVå~a _|

	 109.	 Who composed the story collection ‘Sapna Priya’ ?
	 (A)	 Shivchandra Bhartiya 	 (B)	 Yadvendra Sharma Chandra
	 (C)	 Vijaydan Detha			   (D)	 Nathmal Joshi

		  "gnZ {à`m' H$hmZr g§J«h H$s aMZm {H$gZo H$s ?
	 (A)	 {edMÝÐ ^a{V`m			   (B)	 `mXdoÝÐ e_m© MÝÐ
	 (C)	 {dO`XmZ XoWm			   (D)	 ZW_b Omoer

	 110.	 When did the ‘Protection of Women from Domestic Violence Act’ come into force ?
	 (A)	 2002	 (B)	 2004	 (C)	 2006	 (D)	 2008
		  "Kaoby qhgm Ed§ _{hbm gwajm A{Y{Z`_' H$~ bmJy hþAm ?
	 (A)	 2002	 (B)	 2004	 (C)	 2006	 (D)	 2008

	 111.	 In which schedule were 29 subjects added for Panchayati Raj by the 73rd 
constitutional Amendment in the Indian Constitution ?

	 (A)	 9th	 (B)	 10th	 (C)	 11th	 (D)	 12th

		  ^maVr` g§{dYmZ _| 73 d| g§{dYmZ g§emoYZ Ûmam n§Mm`Vr amO Ho$ {b`o 29 {df` H$m¡Z-gr 
AZwgyMr _| Omo‹S>o J`o ?

	 (A)	 9 dt	 (B)	 10 dt	 (C)	 11 dt	 (D)	 12 dt

	 112.	 What was the ancient name of ‘Java’ ?
	 (A)	 Yavadweep			   (B)	 Suvarnadweep
	 (C)	 Varunadweep			   (D)	 Lakshadweep

		  ‘Omdm ’ H$m àmMrZ Zm_ Š`m Wm ?

	 (A)	 `dÛrn			   (B)	 gwdU©Ûrn
	 (C)	 déUÛrn			   (D)	 bjÛrn

	 113.	 The nearest point on earth surface from focus, is known as
	 (A)	 Hypocentre	 (B)	 Shadow zone	 (C)	 Tectonic centre	 (D)	 Epicentre
		  n¥Ïdr Ho$ gVh na ^yH$ån _yb go {ZH$Q>V_ {~ÝXþ H$hbmVm h¡ 
	 (A)	 AdHo$ÝÐ	 (B)	 N>m`m joÌ	 (C)	 {ddV©{ZH$ Ho$ÝÐ	 (D)	 A{YHo$ÝÐ
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	 114.	 Which aspect is considered critical while planning instructional objectives ? 

	 (A)	 Use of action verbs	 (B)	 Memorization of textbook content

	 (C)	 Avoiding precise goals	 (D)	 Ignoring evaluation methods

		  AZwXoeZmË_H$ CÔoí`m| H$s `moOZm ~ZmVo g_` H$m¡Z-gm nhby _hËdnyU© h¡ ?

	 (A)	 {H«$`mË_H$ {H«$`mAmo§ H$m Cn`moJ 	 (B)	 nmR>çnwñVH$ {df` dñVw H$mo aQ>Zm
	 (C)	 gQ>rH$ bú`m| go ~MZm	 (D)	 _yë`m§H$Z {d{Y`m| H$s Cnojm

	 115.	 Which of the following pairs is not correctly matched ?

		  Festival			         Place

	 (A)	 Marwar festival	 –	 Jodhpur

	 (B)	 Thar festival	 –	 Bikaner

	 (C)	 Maru festival	 –	 Jaisalmer

	 (D)	 Elephant festival	 –	 Jaipur

		  {ZåZ{b{IV _| go H$m¡Z-gm `w½_ ghr gw_o{bV Zht h¡ ?

		  _hmoËgd			       ñWmZ

	 (A)	 _madm‹S> _hmoËgd	 –	 OmoYnwa

	 (B)	 Wma _hmoËgd	 –	 ~rH$mZoa

	 (C)	 _é _hmoËgd	 –	 O¡gb_oa

	 (D)	 hmWr _hmoËgd	 –	 O`nwa

	 116.	 When did Mangal Pandey revolt in Barrackpur ?

	 (A)	 28 May 1857	 (B)	 10 May 1857	 (C)	 29 March 1857	 (D)	 8 April 1857

		  _§Jb nmÊS>o Zo ~¡aH$nwa _| {dÐmoh H$~ {H$`m ?
	 (A)	 28 _B© 1857	 (B)	 10 _B© 1857	 (C)	 29 _mM© 1857	 (D)	 8 Aà¡b 1857

	 117.	 What is the angle between the axis of the earth and its orbital plane ?
	 (A)	 23½° 	 (B)	 66½° 	 (C)	 90° 	 (D)	 85° 

		  n¥Ïdr H$m Aj BgHo$ H$jr` gVh go {H$VZo {S>J«r H$m H$moU ~ZmVr h¡ ?
	 (A)	 23½° 	 (B)	 66½° 	 (C)	 90° 	 (D)	 85°
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	 118.	 Which of the following is not an example of a project work in social sciences ?
	 (A)	 Collection of postal stamps	 (B)	 Running a cooperative bank
	 (C)	 Solving mathematical equations	 (D)	 Organizing social surveys

		  {ZåZ{b{IV _| go H$m¡Z-gm gm_m{OH$ {dkmZ _o§ n[a`moOZm H$m`© H$m CXmhaU Zht h¡ ? 
	 (A)	 S>mH$ {Q>H$Q>m| H$m g§J«hU	 (B)	 ghH$mar ~¢H$ H$m n[aMmbZ
	 (C)	 J{UVr` g_rH$aU hb H$aZm	 (D)	 gm_m{OH$ gd}jU H$m Am`moOZ

	 119.	 How many members of the Constituent Assembly signed the Constitution of India, 
adopted on 26 November 1949 ?

	 (A)	 389	 (B)	 299	 (C)	 284	 (D)	 278

		  26 Zdå~a 1949 H$mo A§JrH¥$V ^maV Ho$ g§{dYmZ na g§{dYmZ g^m Ho$ {H$VZo gXñ`m| 
Ho$ hñVmja hþE Wo ?

	 (A)	 389	 (B)	 299	 (C)	 284	 (D)	 278

	 120.	 What is the primary purpose of the 5E model in teaching social sciences ? 
	 (A)	 To encourage active learning and engagement 
	 (B)	 To memorize historical events
	 (C)	 To focus on rote learning techniques
	 (D)	 To prioritize lecture based instruction

		  gm_m{OH$ {dkmZm| Ho$ {ejU _| 5E _m°S>b H$m _w»` CÔoí` Š`m h¡ ? 
	 (A)	 g{H«$` A{YJ_ Am¡a gh^m{JVm H$m àmoËgm{hV H$aZm
	 (B)	 Eo{Vhm{gH$ KQ>ZmAmo§ H$mo `mX H$aZm
	 (C)	 aQ>Zo H$s VH$ZrH$m| na Ü`mZ Ho$pÝÐV H$aZm
	 (D)	 Ho$db ì`m»`mZ AmYm[aV {ejU H$mo àmW{_H$Vm XoZm

	 121.	 What is the primary purpose of using narration as a teaching strategy in social 
sciences ? 

	 (A)	 To replace textbooks with storytelling
	 (B)	 To focus only on historical facts
	 (C)	 To reduce the role of student participation
	 (D)	 To present a well ordered and engaging verbal account of events

		  gm_m{OH$ {dkmZ _| d¥ÎmmÝV aUZr{V H$m _w»` CÔoí` Š`m h¡ ? 
	 (A)	 nmR²>`nwñVH$m| H$s H$hmZr à{VñWm{nV H$aZm
	 (B)	 Ho$db Eo{Vhm{gH$ VÏ`m| na Ü`mZ H|${ÐV H$aZm 
	 (C)	 N>mÌm| H$s ^mJrXmar H$mo H$_ H$aZm 
	 (D)	 KQ>ZmAm| H$m gwì`dpñWV Am¡a amoMH$ _m¡{IH$ {ddaU àñVwV H$aZm
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	 122.	 Which is the largest producer state of millets in India ?
	 (A)	 Rajasthan	 (B)	 Punjab	 (C)	 Haryana	 (D)	 Gujarat

		  ^maV _| _moQ>o AZmO H$m g~go ~‹S>m CËnmXH$ amÁ` H$m¡Z-gm h¡ ?
	 (A)	 amOñWmZ	 (B)	 n§Om~	 (C)	 h[a`mUm	 (D)	 JwOamV

	 123.	 According to Article 334, how many seats are reserved for scheduled castes in 
Lok Sabha ? (Till Dec. 2024)

	 (A)	 30	 (B)	 47	 (C)	 63	 (D)	 84
		  bmoH$ g^m _| AZwÀN>oX 334, Ho$ AZwgma AZwgy{MV Om{V`m| Ho$ {b`o {H$VZo ñWmZ Ama{jV h¡ ? 

({Xgå~a 2024 VH$)
	 (A)	 30	 (B)	 47	 (C)	 63	 (D)	 84

	 124.	 Women painters named Kamala and Elaichi are associated to which painting 
style of Rajasthan ?

	 (A)	 Jodhpur style			   (B)	 Kishangarh style
	 (C)	 Nathdwara style			   (D)	 Bundi style

		  H$_bm Ed§ Bbm`Mr Zm_H$ _{hbm {MÌH$mam| H$m gå~§Y amOñWmZ H$s {H$g {MÌH$bm e¡br go h¡ ?
	 (A)	 OmoYnwa e¡br			   (B)	 {H$eZJ‹T> e¡br
	 (C)	 ZmWÛmam e¡br			   (D)	 ~yÝXr e¡br

	 125.	 What were the copper coins called during the Mauryan period ?
	 (A)	 Nishka	 (B)	 Karshapan	 (C)	 Dharan	 (D)	 Mashak

		  _m¡`©H$mb _| Vm±~o Ho$ {gŠHo$ H$mo Š`m H$hm OmVm Wm ?
	 (A)	 {ZîH$	 (B)	 H$mfm©nU	 (C)	 YaU	 (D)	 _mfH$

	 126.	 What are the three mutually interrelated aspects of the evaluation process ? 
	 (A)	 Objectives, Resources and Tools
	 (B)	 Planning, Implementation and Objectives
	 (C)	 Objectives, Learning experiences and Evaluation
	 (D)	 Teaching, Testing and Learning 

		  _yë`m§H$Z à{H«$`m Ho$ VrZ nañna g§~§{YV KQ>H$ H$m¡Z-go h¡ ? 

	 (A)	 CÔoí`, g§gmYZ Am¡a CnH$aU

	 (B)	 `moOZm, {H«$`mÝd`Z Am¡a CÔoí`

	 (C)	 CÔoí`, {ejU AZw^d Am¡a _yë`§mH$Z

	 (D)	 {ejU, narjU Am¡a A{YJ_
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	 127.	 On the banks of which river the “Dashragya battle” was fought during the 
Rigvedic times ?

	 (A)	 Shatudri	 (B)	 Vipasa	 (C)	 Vitasta	 (D)	 Parushni

		  {ZåZ{b{IV _| go {H$g ZXr Ho$ VQ> na F$½d¡{XH$ H$mb _| “Xmeamk `wÕ ” b‹S>m J`m Wm ?
	 (A)	 eVwÐr	 (B)	 {dnmem	 (C)	 {dVñVm	 (D)	 néîUr

	 128.	 When was Guru Nanak born ?
	 (A)	 1398	 (B)	 1469	 (C)	 1498	 (D)	 1569
		  Jwé ZmZH$ H$m OÝ_ H$~ hþAm ?
	 (A)	 1398	 (B)	 1469	 (C)	 1498	 (D)	 1569

	 129.	 Which Dam is located in Madhya Pradesh ?	
	 (A)	 Gandhi Sagar			   (B)	 Rana Pratap Sagar
	 (C)	 Jawahar Sagar			   (D)	 Kota Barrage
		  H$m¡Z-gm ~m§Y _Ü` àXoe _| pñWV h¡ ?
	 (A)	 Jm±Yr gmJa			   (B)	 amUm àVmn gmJa
	 (C)	 Odmha gmJa			   (D)	 H$moQ>m ~¡amO

	 130.	 Khadar and Bhangar are examples of which soil in India ?

	 (A)	 Black	 (B)	 Red-yellow	 (C)	 Arid	 (D)	 Alluvial

		  ImXa Am¡a ~m§Ja ^maV _| H$m¡Z-gr _¥Xm Ho$ CXmhaU h¢ ?
	 (A)	 H$mbr	 (B)	 bmb-nrbr	 (C)	 ewîH$	 (D)	 Obmo‹T>

	 131.	 In Rajasthan Kamalital and Rajeshwari are related with
	 (A)	 Coal			   (B)	 Mineral oil and natural gas
	 (C)	 Nuclear energy			   (D)	 Copper

		  amOñWmZ _| H$_brVmb VWm amOoídar ____________ go gå~pÝYV h¡ &

	 (A)	 H$mo`bm			   (B)	 I{ZO Vob d àmH¥${VH$ J¡g
	 (C)	 na_mUw D$Om©			   (D)	 Vm§~m

	 132.	 Who was first to report Kalibanga Civilization ?
	 (A)	 Amalananda Ghosh	 (B)	 Akshay kirti Vyas
	 (C)	 Ratan Chandra Agrawal	 (D)	 Vijay Kumar

		  H$mbr~§Jm gä`Vm H$s ImoO {H$gZo H$s ?
	 (A)	 A_bmZÝX Kmof			   (B)	 Aj`H$s{V© ì`mg
	 (C)	 aVZ MÝÐ AJ«dmb			   (D)	 {dO` Hw$_ma
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	 133.	 Who composed the ‘Prayag Prashasti’ famous as the Allahabad Pillar Inscription ?

	 (A)	 Harishena	 (B)	 Kalidasa	 (C)	 Shudrak	 (D)	 Bhas

		  Bbmhm~mX ñV§^ A{^boI Ho$ Zm_ go à{gÕ ‘à`mJ àepñV ’ H$s aMZm {H$gZo H$s Wr ?
	 (A)	 h[afoU	 (B)	 H$m{bXmg	 (C)	 eyÐH$	 (D)	 ^mg

	 134.	 Settlement of dispute between two states in India falls under which jurisdiction 
of the Supreme Court ?

	 (A)	 Advisory	 (B)	 Original	 (C)	 Appellate	 (D)	 Writ

		  ^maV _| Xmo amÁ`m| Ho$ _Ü` {ddmX H$m {ZnQ>mZm gdm}ÀM Ý`m`mb` Ho$ {H$g joÌm{YH$ma Ho$ 
AÝVJ©V AmVm h¡ ?

	 (A)	 gbmhH$mar	 (B)	 _m¡{bH$	 (C)	 Anrbr`	 (D)	 [aQ>

	 135.	 Where are the central arid zone research Institute and Arid Forest Research 
Institute located ?

	 (A)	 Bikaner	 (B)	 Jodhpur	 (C)	 Jaisalmer	 (D)	 Nagaur

		  Ho$ÝÐr` ewîH$ joÌ AZwg§YmZ g§ñWmZ VWm ewîH$ dZ AZwg§YmZ g§ñWmZ H$hm± pñWV h¡ ?
	 (A)	 ~rH$mZoa	 (B)	 OmoYnwa	 (C)	 O¡gb_oa	 (D)	 ZmJm¡a

	 136.	 The fundamental right in which ‘Child protection and child rights’ are 
given the most importance, is

	 (A)	 Right to equality		  (B)	 Right against exploitation

	 (C)	 Right to freedom of religion	 (D)	 Cultural and educational rights

		  dh _m¡{bH$ A{YH$ma {Og_| "~mb g§ajU Ed§ ~mb A{YH$ma' H$mo gdm©{YH$ _hËd {X`m h¡, dh h¡
	 (A)	 g_mZVm H$m A{YH$ma		 (B)	 emofU Ho$ {déÕ A{YH$ma
	 (C)	 Ym{_©H$ ñdVÝÌVm H$m A{YH$ma	 (D)	 gm§ñH¥${VH$ Am¡a e¡{jH$ A{YH$ma

	 137.	 Which of the following centre was not the main political centre of the Maurya		
Empire ?

	 (A)	 Taxila	 (B)	 Ujjayini	 (C)	 Kaushambi	 (D)	 Suvarnagiri

		  AYmo{b{IV _| go H$m¡Z-gm Ho$ÝÐ _m¡`© gm_«mÁ` H$m à_wI amOZr{VH$ Ho$ÝÐ Zht Wm ?
	 (A)	 Vj{ebm	 (B)	 CÁO{`Zr	 (C)	 H$m¡emå~r	 (D)	 gwdU©{Jar
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	 138.	 What is the primary goal of studying social sciences ?
	 (A)	 To enhance physical skills
	 (B)	 To help students know, understand and adjust to their society and environment
	 (C)	 To develop mathematical models
	 (D)	 To analyze mechanical systems

		  gm_m{OH$ {dkmZm| H$m AÜ``Z H$aZo H$m _w»` CÔoí` Š`m h¡ ? 
	 (A)	 emar[aH$ H$m¡eb _| gwYma H$aZm
	 (B)	 N>mÌm| H$mo CZHo$$ g_mO Am¡a n`m©daU H$mo OmZZo, g_PZo Am¡a g_m`moOZ H$aZo _o§ _XX H$aZm
	 (C)	 J{UVr` _m°S>b {dH${gV H$aZm
	 (D)	 `m§{ÌH$ àUm{b`m| H$m {díbofU H$aZm

	 139.	 Impressed by the miracles of which Saint, Delhi Sultan Sikandar Lodi gave him 
land in Rajasthan ?

	 (A)	 Jasnathji	 (B)	 Mallinathji	 (C)	 Gogaji	 (D)	 Mehaji Manglia

		  {H$g gÝV Ho$ M_ËH$mam| go à^m{dV hmoH$a {Xëbr gwëVmZ {gH§$Xa bmoXr Zo CÝh| amOñWmZ _| ^y{_ 
Xr Wr ?

	 (A)	 OgZmWOr	 (B)	 _ëbrZmWOr	 (C)	 JmoJmOr	 (D)	 _ohmOr _m§J{b`m

	 140.	 Which of the following is/are principles of Arya Samaj ?
	 1.	 Vedas are the storehouse of truth, knowledge and wisdom.
	 2.	 Idol worship is hypocrisy.
	 3.	 Opposed to widow remarriage.
	 4.	 Opposed to incarnationalism.
	 (A)	 1, 2, 3	 (B)	 1, 3, 4	 (C)	 1, 4	 (D)	 1, 2, 4

		  {ZåZ{b{IV _| go Am`© g_mO Ho$ {gÕmÝV H$m¡Z-go h¡/h¢ ?
	 1.	 doX hr gË`, {dÚm Am¡a kmZ Ho$ ^ÊS>ma h¢ &
	 2.	 _y{V© nyOm AmS>å~a h¡ &
	 3.	 {dYdm nwZ{d©dmh H$m {damoY &
	 4.	 AdVmadmX H$m {damoY &
	 (A)	 1, 2, 3	 (B)	 1, 3, 4	 (C)	 1, 4	 (D)	 1, 2, 4

	 141.	 If it is 10.00 AM at a place located at 15° east longitude, then what will be the 
time at a place located at 75° east longitude ?

	 (A)	 02.00 pm	 (B)	 02.00 am	 (C)	 10.00 pm	 (D)	 06.00 am

		  `{X 15° nydu XoemÝVa na pñWV ñWmZ na gw~h Ho$ 10.00 ~Oo hmo, Vmo 75° nydu XoemÝVa na pñWV 
ñWmZ na {H$VZm g_` hmoJm ?

	 (A)	 Xmonha 02.00	 (B)	 gw~h 02.00	 (C)	 am{Ì Ho$ 10.00	 (D)	 gw~h 06.00
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	 142.	 The correct group of metallic minerals is
	 (A)	 Iron, Copper, Mica	 (B)	 Mica, Potash, Iron
	 (C)	 Iron, Copper, Lead		 (D)	 Iron, Copper, Potash

		  YmpËdH$ I{ZOm| H$m ghr g_yh h¡
	 (A)	 bm¡hm, Vm§~m, A^«H$			  (B)	 A^«H$, nmoQ>me, bm¡hm
	 (C)	 bm¡hm, Vm§~m, grgm			   (D)	 bm¡hm, Vm§~m, nmoQ>me

	 143.	 Which concept introduced by social networking is analogous to live radio 
and television broadcast ? 

	 (A)	 User privacy setting 	 (B)	 Real-time web
	 (C)	 Group messaging 		  (D)	 Content scheduling

		  gmoeb ZoQ>d{Hª$J Ûmam àñVwV {H$`m J`m H$m¡Z-gm H$m°ÝgoßQ> bmBd ao{S>`mo Am¡a Q>obr{dOZ 
àgmaU Ho$ g_mZ h¡ ? 

	 (A)	 Cn`moJH$Vm© JmonZr`Vm goqQ>J	 (B)	 [a`b-Q>mB_ do~
	 (C)	 g_yh g§Xoe			   (D)	 gm_J«r AZwgyMr

	 144.	 Which of the following statement is/are correct about Magadha Mahajanapada ?
	 1.	 Anga was assimilated into Magadha by Bimbisara.
	 2.	 Avanti was assimilated into Magadha by Udayin.
	 3.	 Vajjisangh was assimilated into Magadha by Ajatashatru.
	 (A)	 1, 2	 (B)	 2, 3	 (C)	 1, 3	 (D)	 1, 2, 3
		  _JY _hmOZnX Ho$ ~mao _| {ZåZ _| go H$m¡Z-gm H$WZ ghr h¡/h¢ ?
	 1.	 A§J H$m _JY _| {db` q~{~gma Ûmam {H$`m J`m &
	 2.	 AdpÝV H$m _JY _| {db` CXm{`Z Ûmam {H$`m J`m &
	 3.	 dpÁOg§K H$m _JY _| {db` AOmVeÌw Ûmam {H$`m J`m &

	 (A)	 1, 2	 (B)	 2, 3	 (C)	 1, 3	 (D)	 1, 2, 3

	 145.	 According to the Indian Constitution, the state legislature cannot make laws on 
which of the following subjects ?

	 (A)	 Agriculture	 (B)	 Ports	 (C)	 Land	 (D)	 Public health

		  ^maV Ho$ g§{dYmZ Ho$ AZwgma amÁ` H$s {dYm{`H$m {ZåZ _| go {H$g {df` na H$mZyZ {Z_m©U Zht 
H$a gH$Vr ?

	 (A)	 H¥${f	 (B)	 ~ÝXaJmh	 (C)	 ^y{_	 (D)	 gmd©O{ZH$ ñdmñÏ`
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	 146.	 Where was the first cement factory established in Rajasthan ?
	 (A)	 Lakheri	 (B)	 Beawar	 (C)	 Nimbahera	 (D)	 Chittorgarh
		  amOñWmZ _| àW_ gr_|Q> H$maImZm H$hm± ñWm{nV hþAm Wm ?
	 (A)	 bmIoar	 (B)	 ã`mda	 (C)	 {Zå~mho‹S>m	 (D)	 {MÎmmo‹S>JT>

	 147.	 By which constitutional amendment the voting age was reduced from 		
21 to 18 years in India ?

	 (A)	 60th	 (B)	 61st	 (C)	 62nd	 (D)	 63rd

		  ^maV _| {H$g g§d¡Ym{ZH$ g§emoYZ Ûmam _Vm{YH$ma H$s Am`w 21 go KQ>mH$a 18 df© H$s JB© ?
	 (A)	 60 dm±	 (B)	 61 dm±	 (C)	 62 dm±	 (D)	 63 dm±

	 148.	 Consider the following statements about Dashavatara temple of Deogarh :
	 1.	 This temple is located in the state of Uttar Pradesh.
	 2.	 The temple has been constructed on a high and wide platform.
	 3.	 This temple is the first example of a Shikhara Mandir.
		  Which of the statements given above is/are true ?
	 (A)	 Only 1	 (B)	 1, 2	 (C)	 1, 3	 (D)	 1,2,3
		  XodJT> Ho$ XemdVma _§{Xa Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$s{OE :
	 1.	 `h _§{Xa CÎma àXoe amÁ` _| pñWV h¡ &
	 2.	 _§{Xa H$m {Z_m©U EH$ D§$Mo Ed§ Mm¡‹S>o M~yVao na {H$`m J`m h¡ &
	 3.	 `h _§{Xa {eIa _§{Xa H$m nhbm CXmhaU h¡ &
		  Cn`©wŠV H$WZm| _| go H$m¡Z-gm/go ghr h¡/h¢ ?
	 (A)	 Ho$db 1	 (B)	 1, 2	 (C)	 1, 3	 (D)	 1,2,3

	 149.	 Who gave shelter to Peshwa Nana Saheb and his family in Rajasthan during the 
revolution of 1857 ?

	 (A)	 Thakur Kushal Singh of Auwa	 (B)	 Rawat Jyot Singh of Kothariya
	 (C)	 Maharaja Takhat Singh of Bharatpur	 (D)	 Maharana Swarup Singh of Udaipur
		  1857 H$s H«$m§{V Ho$ Xm¡amZ noedm ZmZm gmh~ Am¡a CZHo$ n[adma H$mo amOñWmZ _| eaU {H$gZo Xr Wr ?
	 (A)	 AmCdm Ho$ R>mHw$a Hw$emb qgh	 (B)	 H$moR>m[a`m Ho$ amdV Á`moV qgh
	 (C)	 ^aVnwa Ho$ _hmamOm V»V qgh	 (D)	 CX`nwa Ho$ _hmamUm ñdê$n qgh

	 150.	 The coriolis force which deflects the directions of the winds on the earth, is 
maximum at

	 (A)	 Equator	 (B)	 Mid-latitudes	 (C)	 Poles	 (D)	 Same on the earth
		  n¥Ïdr na ndZm| H$s {Xem H$mo {djo{nV H$aZo dmbo H$mo[aAm{bg ~b H$s gdm©{YH$ _mÌm hmoVr h¡
	 (A)	 {dfwdV d¥Îm na	 (B)	 _Ü` Ajm§em| na 	 (C)	 Y«wdm| na	 (D)	 n¥Ïdr na g_mZ ahVm h¡
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IMPORTANT INSTRUCTIONS / _hÎdnyU© {ZX}e
(Read carefully and comply / Ü`mZ  go  n‹T>|  Am¡a  nmbZ  H$a|)

1.	 In Section II (Language-I), a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the Online Application Form.
	 IÊS> II (^mfm-I) _| Cgr ^mfm Ho$ àíZm| H$mo hb H$aZm A{Zdm ©̀ h¡ {Og ^mfm H$m M`Z Aä`Wu Zo ^mfm-I Ho$ ê$n _| Am°ZbmBZ AmdoXZ-nÌ _| {H$`m h¡ &
2.	 In Section III (Language-II), a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the Online Application Form. The language-II 

will be different from Language-I.
	 IÊS> III (^mfm-II) _| Cgr ^mfm Ho$ àíZm| H$mo hb H$aZm A{Zdm ©̀ h¡ {Og ^mfm H$m M`Z Aä`Wu Zo ^mfm-II Ho$ ê$n _| Am°ZbmBZ AmdoXZ-nÌ _| {H$`m h¡ & ^mfm-I go ^mfm-II {^ÝZ hmoJr &
3.	 The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the OMR Answer Sheet. Your OMR Answer 

Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not Question Booklet Number.
	 Aä`Wu gw{ZpíMV H$a| {H$ OMR AmÝga erQ> _| {ZYm©[aV ñWmZ na àíZ-nwpñVH$m grarO H$moS> Ed§ {eâQ> H«$_m§H$ ghr ^am h¡ & AmnH$s OMR AmÝga erQ> H$m _yë`m§H$Z àíZ-nwpñVH$m H«$_m§H$ 

na Zht ~pëH$ àíZ-nwpñVH$m grarO H$moS> Ed§ {eâQ> H«$_m§H$ Ho$ AmYma na {H$`m Om`oJm &
4.	 The  candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate in the Online Application Form.
	 If a candidate answers the questions of the language or subject other than selected in the Online Application Form, the candidate shall be personally responsible for it and it would be treated as wrong.
	 Aä`Wu H$mo Bg àíZ-nÌ Ho$ IÊS> (IV a) J{UV Ed§ {dkmZ `m (IV b) gm_m{OH$ AÜ``Z _| Cgr {df` Ho$ àíZm| H$mo hb H$aZm h¡, {Og {df` H$m M`Z Aä`Wu Zo Am°ZbmBZ AmdoXZ-nÌ _| {H$̀ m h¡ &
	 `{X Aä`Wu Am°ZbmBZ AmdoXZ-nÌ _| M`{ZV ^mfm `m {df` Ho$ àíZm| H$mo hb Z H$aHo$ AÝ` {df` Ho$ àíZm| H$mo hb H$aVm h¡ Vmo dh Aä`Wu H$s ñd §̀ H$s {Oå_oXmar hmoJr VWm JbV _mZm Om òJm &
1.	 Read complete instructions carefully and fill the details from Sl. No. 1 to 9 in the OMR Answer Sheet and Sl. No. 1 to 4 in the Question Booklet. If you fail to fill the details 

and sign as instructed, you will be personally responsible for the consequences arising during scanning of your OMR Answer Sheet.
	 {ZX}em| H$mo nyU© ê$n go Ü`mZnyd©H$ n‹T>| Am¡a H«$_m§H$ 1 go 9 VH$ OMR AmÝga erQ> _| Ed§ H«$_m§H$ 1 go 4 VH$ àíZ-nwpñVH$m (~wH$boQ>) _| {ddaUm| H$mo ^a| & `{X Amn JbV VarHo$ go {ddaU 

^aVo `m hñVmja H$aVo h¢ Vmo OMR AmÝga erQ> H$s ñH¡$qZJ Ho$ \$bñdê$n hmoZo dmbo n[aUm_m| Ho$ à{V Amn ñd`§ CÎmaXm`r hm|Jo &
2.	 The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Question Booklet, only then the candidates will open the seal of the  

Question Booklet. Check whether the Question Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in OMR Answer Sheet will be 
as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.

	 àíZ-nwpñVH$m _| 96 n¥îR> Ed§ 150 àíZ h¢ & Aä`Wu {ZX}e {X ò OmZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob|Jo & `h gw{ZpíMV H$a b| {H$ àíZ-nwpñVH$m _| 150 àíZ h¢ Omo {H$ n¥îR> g§»`m 3 go àmaå^ 
hmoH$a 90 VH$ h¢ & OMR AmÝga erQ> na {eâQ> Zå~a Aä`Wu H$mo Omar {H$ ò J ò àdoe-nÌ Ho$ AZwgma A§{H$V H$aZm h¡ Ed§ Omo àíZ-nwpñVH$m Ho$ D$nar ^mJ na ^r A§{H$V {H$`m hþAm h¡ &

3.	 All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one mark. No marks will be deducted for 
wrong answers.

	 g^r àíZ ~hþ{dH$ënr` àH$ma Ho$ h¢ & àË`oH$ àíZ H$m EH$ {dH$ën hr ghr h¡ & àË`oH$ àíZ Ho$ {bE {ZYm©[aV A§H$ EH$ h¡ & JbV Odm~ Ho$ {bE H$moB© A§H$ H$mQ>o Zht Om`|Jo &
4.	 There will be five options (A, B, C, D, E) for each question in the answer sheet but there will be four options A, B, C, D for each question in the question paper. Candidates have 

to choose the correct option from these four options and mark the corresponding circle blue/black in the answer sheet. Once darkened, changes are not permitted. Modified 
mark will not be accepted and the answer will be treated wrong. If a candidate does not want to answer a question, he/she should blue/black the circle of the fifth option E on 
the answer sheet. If none of the five options given in the answer sheet is circled blue/black, 1/3

rd of the marks for such question will be deducted. If a candidate does not mark 
any of the five options in more than 10 percent of the total questions, he/she will be considered disqualified.

	 CÎma nÌH$ _| àË òH$ àíZ Ho$ {bE nm±M {dH$ën (A, B, C, D, E) hm|Jo {H$ÝVw àíZ nÌ _| àË òH$ àíZ hoVw Mma {dH$ën A, B, C, D hm|Jo & Aä`{W©̀ m| H$mo BZ Mma {dH$ënm| _| go ghr {dH$ën H$m M`Z H$a 
CÎma nÌH$ _| g§~§{YV Jmobo H$mo Zrbm/H$mbm H$aZm h¡ & EH$ ~ma a§Jo hþE Jmobo H$mo ~XbZo H$s AZw_{V Zht h¡ & ~Xbm hþAm {ZemZ ñdrH$ma Zht hmoJm VWm CÎma JbV _mZm OmdoJm & `{X Aä`Wu {H$gr àíZ 
H$m CÎma Zht XoZm MmhVm h¡, Vmo CÎma nÌH$ Ho$ nm±Mdo {dH$ën E H$m Jmobm Zrbm/H$mbm H$a| & `{X CÎma nÌH$ _| {X ò J ò nm±M {dH$ënm| _| go {H$gr H$m ^r Jmobm Zrbm/H$mbm Zht {H$`m OmVm h¡, Vmo Eogo 
àíZ Ho$ {bE àíZ A§H$ H$m 1/3 ^mJ H$mQ>m OmdoJm & `{X Aä`Wu Hw$b àíZm| Ho$ 10 à{VeV go A{YH$ àíZm| _| nm±M {dH$ënm| _| go H$moB© ^r {dH$ën A§{H$V Zht H$aVm h¡, Vmo Cgo A`mo½` _mZm OmdoJm &

5.	 Bubble of correct answer of the question should be darken completely as shown below :
	 àíZ Ho$ ghr CÎma Ho$ Jmobo H$mo ZrMo Xem©`o AZwgma nyam a§Jo &

	
A	 B	 C	 D E

Wrong / JbV

A	 B	 C	 D E
Wrong / JbV

A	 B	 C	 D E
Wrong / JbV

A	 B	 C	 D E
Wrong / JbV

A	 B	 C	 D E
Correct / ghr


6.	 All questions other than language questions of Sections II and III shall be bilingual.
	 àíZ-nÌ Ho$ ^mfm gå~pÝYV IÊS> II Ed§ III Ho$ àíZm| Ho$ A{V[aŠV eof g^r IÊS>m| Ho$ àíZ {Û^mfr` hm|Jo &
7.	 In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.
	 {H$gr àíZ _| {H$gr Ìw{Q> Ho$ {b`o Aä`Wu H$mo {H$gr àH$ma H$m ZwH$gmZ Zht hmoJm & narjm H$s Ad{Y _| àíZm| _| {H$gr àH$ma H$m g§emoYZ Zht H$adm`m Om`oJm &
8.	 Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Question Booklet. Do not tear it off from the Question Booklet.  

No additional paper shall be provided.
	 {H$gr àH$ma Ho$ a\$ H$m ©̀ hoVw àíZ-nwpñVH$m Ho$ AÝV _| OJh Xr JB© h¡ & Bgo àíZ-nwpñVH$m go Zht \$m‹S>| & {H$gr àH$ma H$m A{V[aŠV H$mJµO CnbãY Zht H$adm`m Om òJm &
9.	 Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument etc. is not allowed. Their use 

will result in disqualification.
	 bm°J Q>o~b, H¡$ëŠ ẁboQ>a, ñbmB©S> ê$b, _mo~mB©b \$moZ, noOa, {S>{OQ>b S>m`ar, ãë ỳQy>W, _mBH«$mo\$moZ `m {H$gr AÝ` àH$ma H$m BboŠQ́>m{ZH$ dñVw/CnH$aU H$m à`moJ d{O©V h¡ & BZHo$ Cn`moJ na narjm 

go A`mo½` Kmo{fV {H$`m Om gH$Vm h¡ &
10.	 OMR Answer Sheet will be provided along with question Booklet separately.
	 àíZ-nwpñVH$m Ho$ gmW OMR AmÝga erQ> àXmZ H$s Om`oJr &

11.	 The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR Answer Sheet. The 
Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to 4 entries correctly on the Question Booklet. After opening 
the Question Booklet, ensure that any page/question is not missing/not printed/torn/repeated. In case, you find any defect anywhere in the Question Booklet, immediately 
inform the invigilator and get it replaced within 5 minutes by the invigilator. 

	 Aä`Wu H$mo àíZ-nwpñVH$m narjm Amaå^ hmoZo Ho$ 10 {_ZQ> nyd© Xr OmdoJr & Aä`Wu Amdí`H$ ê$n go OMR AmÝga erQ> _| g^r à{dpîQ>̀ m| H$mo ghr àH$ma go ^a| & àíZ-nwpñVH$m H$s grb narjm 
Amaå^ Ho$ 5 {_ZQ> nyd© Imob| VWm àíZ-nwpñVH$m Ho$ H«$_ g§»`m 1 go 4 H$s à{dpîQ>̀ m| H$mo ghr àH$ma go ^a| & àíZ-nwpñVH$m ImobZo Ho$ níMmV² Aä`Wu VËH$mb `h gw{ZpíMV H$a| {H$ Cg_| {ZYm©[aV 
g_ñV n¥îR> h¡/H$moB© àíZ Ny>Q>m Vmo Zht h¡/N>nmB© nyU© h¡/H$mJµO \$Q>m Vmo Zht h¡ `m H$moB© n¥îR> Xþ~mam Ow‹S> J`m h¡ & `{X àíZ-nwpñVH$m _| Bg àH$ma H$s H$moB© Ìw{Q> nmB© OmVr h¡ Vmo VËH$mb drjH$ H$mo 
gy{MV H$a| VWm 5 {_ZQ> Ho$ ^rVa drjH$ go AnZr àíZ-nwpñVH$m ~Xbdm b| & 

	 12.	 Write your Name, Exam Centre Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Booklet Number in the space provided in the 
Question Booklet as well as in the OMR Answer Sheet.

		  àíZ-nwpñVH$m Ed§ OMR AmÝga erQ> na {ZYm©[aV ñWmZ na Zm_, narjm Ho$ÝÐ H$m H$moS>, hñVmja, amob Z§., àíZ-nwpñVH$m grarO H$moS>, {eâQ> H«$_m§H$ Ed§ àíZ-nwpñVH$m H«$_m§H$ ^a| &
	 13.	 OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the OMR Answer Sheet, it may make 

evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
		  OMR AmÝga erQ> H$mo H$åß`yQ>a Ûmam _yë`m§H$Z Ho$ {b`o ~Zm`m J`m h¡ & `{X Amn Cn`w©ŠV Ed§ OMR AmÝga erQ> Ho$ {nN>bo n¥îR> na {X`o J`o {ZX}em| H$m nmbZ Zht H$aVo, Vmo H$åß`yQ>a Ûmam 

AmnH$m _yë`m§H$Z H${R>Z hmo Om`oJm & Bg H$maU go Aä`Wu H$mo hmoZo dmbo ZwH$gmZ H$s {Oå_oXmar CgH$s ñd`§ H$s hmoJr &
	 14.	 Warning Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of examination.  No candidate should leave the examination hall before 

the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s 
Copy (Duplicate) so that the Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before 
leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not allowed to be taken by the candidate.

		  narjm g_mpßV Ho$ 5 {_ZQ> nyd© MoVmdZr K§Q>r ~OoJr Ed§ ApÝV_ bå~r K§Q>r narjm g_mpßV na ~OoJr & H$moB© Aä`Wu ApÝV_ K§Q>r ~OZo Ho$ nyd© narjm H$j go ~mha Zht Om gHo$Jm & OMR 
AmÝga erQ> H$m~©Z a{hV VWm AZw{b{n g{hV h¡ CgHo$ ~m`t Va\$ na\$moaoeZ {H$`m hþAm h¡ & Aä`Wu gmdYmZr go Aä`Wu H$s à{V (AZw{b{n) go _yb à{V H$mo Eogo AbJ H$a| Vm{H$ {H$gr ^r 
VarHo$ go _yb à{V H$mo H$moB© hm{Z Z nhþ±Mo & narjm H$j N>mo‹S>Zo Ho$ nyd© Aä`Wu OMR H$s _yb à{V Ed§ àíZ-nwpñVH$m drjH$ H$mo gm¢n X§o & Aä`Wu Ho$db AnZr OMR H$s à{V hr AnZo gmW 
bo Om gH|$Jo & àíZ-nwpñVH$m Aä`Wu AnZo gmW Zht bo Om gH|$Jo &
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